RRBPO MAINS (PACKAGE) -03 2020

Q-1 How many such pairs of letters are there in the word ‘OXFORDDICTION?” each of which has as many letters between them in the word as in the English
eng alphabet?

01. None 02. One

03. Two 04. Three

05. More than three
Q-1 o153 ‘OXFORDDICTION’ ¥, 37eA%1 3 U fore ST12 g O & wooreh o i ore | 3aq & o714 g Toraw 7 37 = RISt aoarer § gra 82

01. =yE =gl 02. ux
03. =7 04. 9
05. o 7 srfer
Solution for Question 1
eng OXFORDDIGTION
[ T
hi

—
OXFORDDICTION
[ E—

Q-2 How many such digits are there in the number ‘768995231220° each of which is as far away from the beginning of the number as when the digits are
eng arranged in ascending order within the number from right end?

01. None 02. One

03. Two 04. Three

0S. More than three
Q-2 TEAT 768995231220 § U Foraer sih 8 s & e | o wew & 3a+t &1 331 7% €, S 3 ag g 3 siew ard 7 & o #7 aet w49
hi H A fRad F3 T 82

01. 75 T& 02. T
03. =7 04. HiF
05. &= & =rfae

Solution for Question 2

eng 76i99i231ﬁ28
99(8|7 6/5/3 2 221

hi 76i99i231ﬁzg
99(8]7 6/5/3 2 2|21

Passage for Question 3, 4, 13, 14, 15 (ST-2054RRBPOMAINS(34-38R)2019)
eng Passage

Study the given information carefully and answer the following questions.

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a particular rule. The following is an
illustration of input and its rearrangement.

Input: acon robi zoya 23 48 hdu 34 iuew 87 ffu 39 hnfu 3

Step I: 87 acon robi 23 48 hdu 34 iuew ffu 39 hnfu 32 zoya

Step II: acon 87 robi 48 hdu 34 iuew ffu 39 hnfu 32 zoya 23

Step III: 48 acon 87 hdu 34 iuew ffu 39 hnfu 32 zoya 23 robi

Step IV: iuew 48 acon 87 hdu 34 ffu 39 hnfu zoya 23 robi 32

Step V: 39 iuew 48 acon 87 hdu 34 ffu zoya 23 robi 32 hnfu

Step VI: ffu 39 iuew 48 acon 87 hdu zoya 23 robi 32 hnfu 34

Step VII: ffu 39 iuew 48 acon 87 zoya 23 robi 32 hnfu 34 hdu

Step VIl is the last step of the above arrangement, now answer the questions on this basis.

Input: 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43

hi Passage

LT ATTFTA FT AL F AeqTTHL M Fwforfaa vt F 59z



T 58 3T HeAT =T Wl &l a1 9T5a1 Si1¥ HEATA T Uk IAE (&AT AT &, AT a8 o 920 § U [T Faw F7 a0 #3d gU 3w Aqredq
Tt g1 Feferfed e siT qaeiaer 1 UF 3TgR &l

TAYE: acon robi zoya 23 48 hdu 34 iuew 87 ffu 39 hnfu 32

AT 1: 87 acon robi 23 48 hdu 34 iuew ffu 39 hnfu 32 zoya

T II: acon 87 robi 48 hdu 34 iuew ffu 39 hnfu 32 zoya 23

U7 111 48 acon 87 hdu 34 iuew ffu 39 hnfu 32 zoya 23 robi

AT IV: iuew 48 acon 87 hdu 34 ffu 39 hnfu zoya 23 robi 32

TUT V: 39 iuew 48 acon 87 hdu 34 ffu zoya 23 robi 32 hnfu

AT VI: ffu 39 iuew 48 acon 87 hdu zoya 23 robi 32 hnfu 34

IO VII: ffu 39 iuew 48 acon 87 zoya 23 robi 32 hnfu 34 hdu

LT VI SYRIH ST T a8 =07 g 31 ol areme a< fRuw st st 3 s e

TAYE: 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43

Q-3 How many digits are there in between 43 and 23 in the step 4?
eng

01. 1 02. 2

03. 3 04. None

05. None of these
Q-3 LT 4 | 43 3T 23 F 7 § Fohawt Hear 8 2

hi
01. | 02. 2
03. 3 04. FrZ TRl
05. =i ¥ 7S 7

Solution for Question 3

eng INPUT- 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43
STEP 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
STEP 2- djk 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
STEP 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
STEP 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
STEP 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
STEP 6- hgb 43 fifj 84 djk 85 34 ked 20 juf 23 hhh 32
STEP 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

hi 7z~ 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43
= 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
= 2- dik 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
= 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
= 4- fijfj 84 dijk 85 34 hgb hhh 32 43 ked 20 juf 23
= 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
= 6- hgb 43 fijfj 84 djk 85 34 ked 20 juf 23 hhh 32
= 7- 34 hgb 43 ijfj 84 djk 85 ked 20 juf 23 hhh 32

Q-4 In the second last step, what is the position of 43 from left side?
eng
01. Second 02. Third
03. Fourth 04. Eighth

05. None of these
Q-4 v iy sifirwy o i, A e 7 43 1 Rl T 9

hi
01. zad 02. f=
03. =Teft 04. At
05. Zd & FE

Solution for Question 4

eng INPUT- 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43

STEP 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
STEP 2- djk 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
STEP 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
STEP 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
STEP 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
STEP 6- hgb 43 fijfj 84 djk 85 34 ked 20 juf 23 hhh 32
STEP 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

hi F7z-_ 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43



= 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
= 2- dik 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
= 3- 84 dik 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
= 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
= 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
= 6- hgb 43 fijfj 84 djk 8534 ked 20 juf 23 hhh 32
= 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

Passage for Question 5, 6, 7, 8 (ST-2054RRBPOMAINS(30-33R)2019)
eng Passage

Study the given information carefully and answer the given questions.

In a certain code,

‘GOOD FOR LIFE’ is written as ‘N9 H22 N23°,

‘STARTING OF BUSINESS’ is written as ‘T8 S20 E21°, and
‘DOING GREAT DEAL’ is written as ‘D15 Q7 N20 °. Then...

hi Passage
fag T gt F ITT N F fore FArwferfra st w1 sara-gds o)

T FIE ATOTH

‘GOOD FOR LIFE’ #T ‘N9 H22 N23°,

‘STARTING OF BUSINESS’ &T ‘T8 S20 E21°, 3fiT

‘DOING GREAT DEAL’ #T ‘D15 Q7 N20’ ferar St g av .......

Q-5 What is the code for ‘CNFERENE’?

eng
01. E20 02. M22
03. T26 04. 023
05. N21

Q-5 ‘CNFERENE’ T T HT€ 2RI?

hi
01. E20 02. M22
03. T26 04. 023
05. N21

Solution for Question 5

eng Immediate preceding letter of
the second letter in the word
GOOD=N 23 Immediate preceding letter of
Place value of the reverse the second letter in the word
letter of the last letter. ;
’ LIFE =H 22

Immediate preceding letter of Place value of the reverse

the second letter in the word letter of the last letter,

FOR =N9
Place value of the reverse
leter of the last leier.

hi Immediate preceding letter of
the second letter in the word

GOOD=N 23 Immediate preceding letter of

Q-6

eng

Place value of the reverse
letter of the last letter.

Immediate preceding letter of
the second letter in the Word

FOR =N9

Place value of the reverse

letter of the last lemer,

What is the code for ‘SHARING’?

01. B20

the second letter in the word
LIFE =H 22

Place value of the reverse

letter of the last letter,

02. G20



03. H20

05. W20
Q-6 ‘SHARING’ T F4T € gHIT?
hi

01. B20

03. H20

05. W20

Solution for Question 6

04. J20
02. G20
04. J20

eng Immediate preceding letter of
the second letter in the word
GOOD= N 23 Immediate preceding letter of
Place vilus of the reverse the second letter in the word
letter of the last letter.
LIFE =H 22
Immediate preceding letter of Place value of the reverse
the second letter in the word letter of the last letter,
FOR=N9
Place value of the reverse
letter of the last letter.
hi Immediate preceding letter of

the second letter in the word
GOOD- N 23
Place value of the reverse

letter of the last letter.

Immediate preceding letter of
the second letter in the word
FOR=N9

Place value of the reverse
letter of the last letter.

Immediate preceding letter of

the second letter in the word
LIFE

H 22

Place value of the reverse
letter of the last letter,

eng

01. AI12

03. Hi6

05. N21
Q-7 “TIRADEK’ T 7T F1€ g2
hi

01. A12

03. Hi6

05. N21

Solution for Question 7

What is the code for ‘TIRADEK’?

02. G21
04. 019
02. G21
04. 019

eng Immediate preceding letter of
the second letter in the word
GOOD=N 23 Immediate preceding letter of
Place value of the teverse the second letter in the word
letter of the last letter. s
LIFE =H 22
Immediate preceding letter of Place value of the reverse
the second letter in the word letter of the last letter,
FOR=N9
Place value of the reverse
letter of the last letter,
hi Immediate preceding letter of

the second letter in the word
GOOD= N 23
Place value of the reverse

letter of the last letter.

Immediate preceding letter of
the second letter in the word

FOR=N9

Place value of the reverse
letter of the last letier.

Immediate preceding letter of

the second letter in the word
LIFE

H2z

Place value of the reverse

letter of the last letter,

eng

What is the code for ‘TRAINING’?



01. Q20
03. 05

05. S19
“TRAINING’ T F9T &I ZITT?

01. Q20

03. 05

05. S19
Solution for Question 8

02.
04.

R23
D24

02.
04.

R23
D24

Immediate preceding letter of

eng

the second letter in the word
GOOD- N 23
Place value of the reverse
letter of the last letter.
Immaediate preceding letter of
the second letter in the word
FOR=N9

Place value of the reverse

letter of the last letter,

Immediate preceding letter of
the second letter in the word
LIFE

H22

Place value of the reverse
letter of the last letter,

Immediate preceding letter of
the second letter in the word

GOOD- N 23
Place value of the reverse
letter of the last lener.
Immediate preceding letter of
the second letter in the word
FOR=N9

Place value of the reverse
letter of the last lemer,

Immediate preceding letter of
the second letier in the word
LIFE

H22

Place value of the reverse

letter of the last letter,

eng Passage

‘A @ B’ means ‘Some B are A’

‘A # B’ means ‘Some B are not A’.
‘A $ B’ means ‘AllBare A’.

‘A % B’ means ‘NoBis A’.

‘A & B’ means ‘Some A are not B’.
‘A * B’ means ‘All A are B.

hi Passage

‘A@B FTATE ‘TG B,AT|
‘A#B FTATE ‘FZ B, AR 27
‘ASB FTHATE THT B, A’
‘A%B FTHATE < L B, ARl 2
‘A&B FTATE “FZ A, BRI 2
A*B HFTATE TAT A, B

Passage for Question 9, 16, 17, 18 (ST-2054RRBPOMAINS(26-29R)2019)

Study the following information carefully and answer the questions given below.

rafafad STaHTd F 1 eqMgE T Ae7IT L AT FRUrg st F s

Q-9

eng

Which of the following conclusion

Statement :
G@U#L$S%H @A @N.
Conclusions :

01. N&A
03. L%U

05. H&U
Q-9

is Definitely False?

02. H$S
04. N&H

Referfed fAewet 7 & i a7 Ry Qi s&e 82




HYA :
G@U#L$S%H@A @N.
Aoy :

0. N&A 02. HS$S
03. L%U 04. N&H
05. H& U

Solution for Question 9

en: S —
g 7 NN \ A" ™ 4 N\ N
(N [ Ja( )H % \__.}xl u( )e
AY \ J A\ ) J
S ol M N bs J S N X
hi P ——— o —
/ Fo 3 -~ \ A" ™ 4 N g
([~ [ Ja( )n xi,"\__.}xl u(i |e
\ L, o Y4 s ) J \
S ol M Wehd Nl

Passage for Question 10, 12, 28, 29, 30 (ST-2054RRBPOMAINS(11-15R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

Twelve people are sitting in two parallel rows containing six people in such a way that there is an equal distance between adjacent persons. Inrow I- A, B, Z, D, E
and M are seated and all of them are facing south. In row II- P, K, R, S, T and G are seated and all of them are facing north. Therefore, in the given seating
arrangement each member seated in a row faces the member of the other row.

Immediate neighbours of D have the same gender but opposite with respect to D.

The person who is sitting in front of each other is married couples.

P and B are married couples and is sitting one of the extreme ends of the line.

G sits third to the right of S who is facing the person who is an immediate right of T’s wife.

D sits fourth to the right of Z who is the husband of R.

K is the husband of E and the immediate neighbours of K are not females.

M is sitting to the left of B and is not the spouse of T.

hi Passage
fafafaa aTasTd &1 eamgd® Aeaaa w3 AT g ag i w sacdHtg

JTTE SAT<F T THTRIL TET3N § TeAF U G2 AT<h 36 Y § 95 g T afwree =7fp=i & &= &1 g6 @91+ 1 9f6-1 § A, B, Z, D, E 3iT M 93 & =T F 79401
Fferor 1 A7 79 T g1 ARE-IH P, K, R, S, T 3T G 93 ¢ 3T 9 qfY Iq¢ T AT 79 ¥ | ooy, <7 Tt FoF 7aret § U uf<h #7 Yoi® 927 a0
UTeh % 9T gEEd1 & 9FF Bl

D % T TSR T SeT F01 & A6 D % " § fFradia 2

T FEY % A 987 AT SAT<h (ATt 2|

P 31T B faatfed ST € i< ufeh & et s sifow g a9 2

G, S % Td T A7 & ST T Y Tt & i 213 9% =4f<h 67 e 39 =T 2|

D, Z % T3 =TT 927 8, ST R F7 9fd &1

K, E #Tafd g 3T K & qia IS A 781 2|

M, B F a0 3T § 3T T /4T afe/aet 721 21

Q-10  Who amongst the following represents the females facing north?

eng

01. G, P 02. S,P

03. SR 04. A Z

05. A,G
Q-10 fwforfed & & wi9-a7 37 ATt 1 T9riar S 397 § 39 = 82
hi

01. G,P 02. S, P

03. S,R 04. A7

05. A,G

Solution for Question 10

" IR PYT
badddd



TP eeT
hédddd

Passage for Question 11, 24, 25, 26, 27 (ST-2054RRBPOMAINS(16-20R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

Nine person Z, B, X, D, V, F, T, H and Q lives in a building but not necessarily in the same order. There are nine floors in that building and only one person live on
each floor. There are four colours Green, Blue, White and Black, each colour liked by two person and one colour liked by three person, but not necessarily in the
same order. The ground floor is numbered one and above the floor is numbered two and so on till the topmost floor numbered nine.

H likes Green colour and lives on even numbered floor. Z lives on even floor that is below from floor in which H lives. Only one person lives between Z and the
person who likes Black colour. The one who likes White colour lives on the second floor. V likes Blue only with one other person who lives immediately above to
V. The person lives on the top floor and the third floor from the top likes the same colour. D lives on the immediate above from floor that Q lives floor who likes
Green colour. There is one floor between those floors in which F and T live. Both F and T like the same colour. D does not like White colour. X lives immediately
above to the one who likes Black. Q does not live on floor 5.

hi Passage
et T F1ameEF qegga w2 A= R ag gt F sacdfird

AT =<k Z, B, X, D, V, F, T, H 3lIT Q U THIT § T&d &, AT T4l A5l 1% e H H g7 | TATT H A7 Hior § o U Hiore 9T Faol U A<k L@dl gl
AT WA G, AT, T T FHTAT &, TT W7 &1 ATE THE Fd § 3T TH W A A h THE Fd §, AT STe<t Al (o6 2ol HF | gl qae 6 9ea1'1' g
I UL T AT T AT 2" g 3T THT G308 AN Y 75T Fad FuLT wioret i /vy’ g

H &7 837 T 993 § #fi¥ 98 99 ST a0 U2 T2al | Z UF 89 ST ad T H F T | 71 TgaT gl Z 3T FHTAT [N THE FIA 9Tl AE F 919 | Had Th

i<k Tgar g1 fore =f<h & awa 7 19E g 9 TAY a9 U2 Tgal gl V Fae U 3= SAT<h % A1 T 3T T6HE F2dm g ST V F Td FIL a1 ad 92 gl

g ST =AT<h Ja9 FUT & T T Tgal g 3T S ATE UL F T T T2 TEaqT § U gf 31 THE Fd g1 D, Q F T F A 9T AT J I TgaT & ST g<r

[ O FAT 81 F 3T T a1 oF 19 § el U a1 g1 F T T 21 UF g1 07 I8 F:7d 21 D THa 37 T68 q81 H2ar g1 X, FTAT 7 T86a F 97l 716
% T ST TEAT &1 Q T 5 7T TE TEal 2

Q-11 How many floors between the floors on which Q and X live?
eng

01. One 02. Two
03. None 04. Three

05. More than three
Q-11 Q 3T X o wivret e w2a €, 5o = fohaer aforet €2

01. ws 02. =7
03. T TE 04. H
05. = & srfersw

Solution for Question 11

eng F/T | White |
I Green-j
F/T | White
Blue |

BEINWR UV ON® WO

WX Q0 0<N
9]
3
o
]
3

Passage for Question 10, 12, 28, 29, 30 (ST-2054RRBPOMAINS(11-15R)2019)
eng Passage

Study the following information carefully and answer the questions given below.




Twelve people are sitting in two parallel rows containing six people in such a way that there is an equal distance between adjacent persons. Inrow I- A, B, Z, D, E
and M are seated and all of them are facing south. In row II- P, K, R, S, T and G are seated and all of them are facing north. Therefore, in the given seating
arrangement each member seated in a row faces the member of the other row.

Immediate neighbours of D have the same gender but opposite with respect to D.

The person who is sitting in front of each other is married couples.

P and B are married couples and is sitting one of the extreme ends of the line.

G sits third to the right of S who is facing the person who is an immediate right of T’s wife.

D sits fourth to the right of Z who is the husband of R.

K is the husband of E and the immediate neighbours of K are not females.

M is sitting to the left of B and is not the spouse of T.

hi Passage

afafaa ITasTd #1 eamgd® Aegaa w2 AT A= FRwag vt ® sacdHt

qTE AT<h &1 AHAL TET3l | T T2 F: A<k 30 TH1 7 9 ¢ T gferde stndl & = it g a9 81 9fth-1 § A, B, Z, D, E 3T M 3 g 37T & &+
Zferor &1 AT 79 T g URE-1MH P, K, R, S, T 3T G 93 ¢ 3T o qY I AT AT 79 ¥ g T, &F T FoF HATeT § UF Ui*h 7 ToaT 927 a0
UfF o o7 gEEdT % 9V Bl

D % T TEREET FT ST F01 g A6 D % Haer § fFradia 2

T THYL o HTHA S5 aTel AR fAarted

P 3fi¥ B faafed SIS € sff¥ ufer % et ua sifdm g aw a3 €

G, S a3 =T F31 8 ST T Y 0 3 T 213 95 =aih A AY TG @R

D, Z % =73 =TT 93T €, ST R &7 9 21

K, E #T 9fd g 3T K & qia TS A 781 2|

M, B % aTT &7 & =i T /4T afa/aeht 721 81

Q-12 Four of the following five are alike in a certain way and so form a group, which one does not belong to that group?

eng
01. G-M 02. AT
03. E-K 04. D-R
05. P-B

Q-12 ffofad 9= § & 9 UF [ ais ¥ 999 ¢ i Sqo0 UF 99 a91d &, ST 39 T4z & qared Tal 87

01. G-M 02. A-T
03. E-K 04. D-R
05. pP-B

Solution for Question 12

= 999999
bddddd
T AREE
bddddd

Passage for Question 3, 4, 13, 14, 15 (ST-2054RRBPOMAINS(34-38R)2019)
eng Passage

Study the given information carefully and answer the following questions.

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a particular rule. The following is an
illustration of input and its rearrangement.

Input: acon robi zoya 23 48 hdu 34 iuew 87 ffu 39 hnfu 3

Step I: 87 acon robi 23 48 hdu 34 ivew ffu 39 hnfu 32 zoya

Step II: acon 87 robi 48 hdu 34 iuew ffu 39 hnfu 32 zoya 23

Step III: 48 acon 87 hdu 34 iuew ffu 39 hnfu 32 zoya 23 robi

Step IV: iuew 48 acon 87 hdu 34 ffu 39 hnfu zoya 23 robi 32

Step V: 39 iuew 48 acon 87 hdu 34 ffu zoya 23 robi 32 hnfu

Step VI: ffu 39 iuew 48 acon 87 hdu zoya 23 robi 32 hnfu 34

Step VII: ffu 39 iuew 48 acon 87 zoya 23 robi 32 hnfu 34 hdu

Step VII is the last step of the above arrangement, now answer the questions on this basis.

Input: 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43




hi Passage
LT ATTFTA FTLATLIF AT FL AT Fwforfaa vt F 59z

T 9158 3T HeAT w1 9ol &7 T 9521 ¥ HeATS F7 Uk SAUE (&AT AT &, AT a8 T 920 § U [ Fae #7 @ #3d gU S Aaredq
Feft g1 FRferferd saqe siT qaetae 1 uF Sag gl

TLE: acon robi zoya 23 48 hdu 34 iuew 87 ffu 39 hnfu 32

AT I: 87 acon robi 23 48 hdu 34 ivew ffu 39 hnfu 32 zoya

U7 1I: acon 87 robi 48 hdu 34 iuew ffu 39 hnfu 32 zoya 23

AT III: 48 acon 87 hdu 34 iuew ffu 39 hnfu 32 zoya 23 robi

FTUT IV: iuew 48 acon 87 hdu 34 ffu 39 hnfu zoya 23 robi 32

AT V: 39 iuew 48 acon 87 hdu 34 ffu zoya 23 robi 32 hnfu

FIIT VI: ffu 39 iuew 48 acon 87 hdu zoya 23 robi 32 hnfu 34

T VII: ffu 39 iuew 48 acon 87 zoya 23 robi 32 hnfu 34 hdu

0T VI IYLIR SAET FT ST 9207 € 31 T e u¥ o 0 w3 3 3=e <o

T4 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43

Q-13 How many elements are there to the right of 32 in the fourth last step?
eng

01. 4 02. 5
03. 2 04. 3

05. None of these
Q-13 =T § faw F2or #, 32 F 3T A% A" T 82

01. 4 02. 5
03. 2 04. 3

05,z & A 7EF

Solution for Question 13

eng INPUT- 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43
STEP 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
STEP 2- dik 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
STEP 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
STEP 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
STEP 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
STEP 6- hgb 43 fijfj 84 djk 85 34 ked 20 juf 23 hhh 32
STEP 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

hi swe- 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43
=1 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
= 2- dik 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
=1 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
= 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
= 5- 43 £ijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
=1 6- hgb 43 fijfj 84 djk 85 34 ked 20 juf 23 hhh 32
= 7- 34 hgb 43 ijfj 84 djk 85 ked 20 juf 23 hhh 32

Q-14 What is the position of 43 in respect of hhh in step 3?
eng

01. Immediate left 02. Second to the left
03. Second to the right 04. Immediate right

05. None of these
Q-14 =797 3 7 hh ¥ Hagr 7 43 iy Rafq w782

hi
01. FEqamd 02. I & AT
03. FT¥ FgET 04. T
05. i 778

Solution for Question 14

eng INPUT- 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43

STEP 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
STEP 2- dijk 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
STEP 3- 84 dik 85 34 heb hhh 23 fiifi 32 43 ked 20 juf




STEP 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
STEP 5- 43 ijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
STEP 6- hgb 43 fijfj 84 djk 85 34 ked 20 juf 23 hhh 32
STEP 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

hi 7z~ 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43
=0 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
= 2- djk 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
= 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
= 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
= 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
= 6- hgb 43 fijfj 84 djk 8534 ked 20 juf 23 hhh 32
= 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

Q-15 How many total steps are required for the given input?
eng

01. ¢ 02. 5
03. 7 04. 8

05. None of these
Q-15  fEu T zvE ¥ forg Fr fraw =t 7 sraeasar 82

01. ¢ 02. 5
03. 7 04. 8

05. =W H AL T

Solution for Question 15

eng INPUT- 34 hgb ked 85 hhh 84 juf 23 fijfj 32 djk 20 43
STEP 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
STEP 2- dik 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
STEP 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
STEP 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
STEP 5- 43 fijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
STEP 6- hgb 43 fiifj 84 djk 85 34 ked 20 juf 23 hhh 32
STEP 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

hi - 34 hgb ked 85 hhh 84 juf 23 fijff 32 djk 20 43
=1 1- 85 34 hgb hhh 84 juf 23 fijfj 32 djk 20 43 ked
= 2- dik 85 34 hgb hhh 84 juf 23 fijfj 32 43 ked 20
= 3- 84 djk 85 34 hgb hhh 23 fijfj 32 43 ked 20 juf
= 4- fijfj 84 djk 85 34 hgb hhh 32 43 ked 20 juf 23
= 5- 43 £ijfj 84 djk 85 34 hgb 32 ked 20 juf 23 hhh
= 6- hgb 43 fijfj 84 djk 8534 ked 20 juf 23 hhh 32
= 7- 34 hgb 43 fijfj 84 djk 85 ked 20 juf 23 hhh 32

Passage for Question 9, 16, 17, 18 (ST-2054RRBPOMAINS(26-29R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

‘A @ B’ means ‘Some B are A’.

‘A # B’ means ‘Some B are not A’.
‘A $ B’ means ‘All B are A’.

‘A % B’ means ‘NoBis A’.

‘A & B’ means ‘Some A are not B’.
‘A * B’ means ‘All A are B’.

hi Passage
Fafafaa ITasTd &1 samgd® AegaT w1 AT o agwi ® sacdHt

‘A@B FTATE “FZ B,AT|
‘A#B FTATE “FE B, AR 2
‘A$SB FTATE Tt B,A R’
‘A%B FTAAE “FIE B,ATRI &l
‘A&B FTATE FZ A, BRI 2
A*B FTATE T A, B2l




Q-16

eng

Which of the following conclusion is Definitely True?

Statement :

G@U#LS$S%H@A@N.

Conclusions :

0. G%N
03. L&H
05. U&H

02. s@U
04. N&H

fRferfed fAewet 7 & # a1 fAewd QofqaT 9o 22

FIT

G@U#LS$S%H@A@N.

fAeey

01. G%N
03. L&H
05. U&H

Solution for Question 16

02. S@Uu
04. N&H

eng

— -

r
NN/

(u(m?\n\ ).\

*

s \
\ /

— -

[ {
\N\

NN

o/

—~ae— .\
ol (I ‘Ki

Y

x // s, l
N ,&k_,,/

Q-17

eng

Which of the following conclusion is Definitely True?

Statement :

G@U#LSS%H@A @N.

Conclusions :

01. A&L
03. L#H
05. S&H

02. s@U
04. GSH

FRrerferferd et & & #1e |7 e qoiqar a0 82

FI :

G@U#LS$S%H@A@N.

Aeae

0. A&L
03. L#H
05. S&H

Solution for Question 17

eng

Q-18

eng

Which of the following conclusion is Definitely True?

Statement :

G@U#LSS%H@A@N.

Conclusions :

0. U@S

02. L&A



03. L$G 04. A&S

05. N% G
Q-18 fAwforfad Feral & & #i+ a7 fFed Qofqar a3 82

HYT:
G@U#L$SS%H@A @N.
ey

0. U@S 02. L&A
03. L$G 04. A&S
05. N% G

Solution for Question 18

eng i P e
A / X / <N
.,-/ .’: \‘ / \“. \ / L \‘ / r/\\ \
| N { | A | H ¥—t ,.’ \_. 1 ¥ u | | G
\ \ | VY / 1Y hi N
N &/ / N X S
hi S——— — ‘
KT, AL FKS
i/ f \ r \
\N:‘|A¢:|H ‘x.f’\_.}xt ul |so
\ \ \ / / \ hi oo
X X \\ 5’/.‘ J L S S 4

Passage for Question 19, 20, 21, 22, 23 (ST-2054RRBPOMAINS(21-25R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

There are 5 members of a family G, H, L, J and K standing randomly. H is to the north-east of K. J is 2 m to the east of K, who is 6 m to the west of G. [ is to the
north-west of J and is exactly in the mid of the line of KH. J is 4 m to the south of H.

hi Passage
Reforfad ST 7 SAIE® a3 FE T A= [0 70 371 % 392 ter|

TH IRA F ST G, H, L J it K & ST aAaia €T 8§ @2 81 H, KF STe-T@ H 21 J, K F @ § 2 e it g 0 8, ST G & 9% # 6 Hiex it g
TT g1 1, J 3 S-S | 3T KH &1 T@T & 31 7e7 § 81 J, H % 8007 § 4 Hex i g T gl

Q-19  Inwhich direction is G with respect to H?
eng

01. South-east 02. South-west
03. North-west 04. North-east

05. None of these
Q-19 HFEFHEGEHFEfRmaEs

01. zferor-qd 02. =feror-afsm
03. 3Ig<-utsrg 04. 3Ie-
05. =H & F1E T

Solution for Question 19

eng H

Q-20  What s the shortest distance between H and K?
eng



01. 2V7m
03. 7\2m

05. None of these
Q-20  HTK = F =Aaw g FT2?
hi

01. 2+7 Hfiex
03. 72 ez
05. T & FrE AEF

Solution for Question 20

02.
04.

02.
04.

5V2m
245 m

52 #ex
25 fiex

eng Shortest distance between H and K = 42+ 22- 16 + 4
=20=2V5m
A H
2v5m
s I 4m
‘K 2m J 4m G
< 6m
B H i Kt % st = 3t = 42+ 22216 + 4
=20=2V5m
4l H
2v/sm
o L 4m
‘K 2m J 4m L
< 6m

Q-21  Whatis the shortest distance between H and G?

eng

01. 5V7m
03. 6\2m

05. None of these
Q-21 HTGF F= FFaq T FTE?

01. 5v7 e
03. 6V2 Hiex
05. =H T FIE A1

Solution for Question 21

eng H

02.
04.

02.
04.

4\2m
3¥5m

42 #Hex
3Vs5 Hiex

Shortest distance betweenHand G=16 + 16 = 32

=42

H =it G & st =gam gt = 16 + 16 = 32

=42

Q-22  Whatis the distance between J and G?
eng

01. S5m

02.

4m



03. 6m 04. 3m

05. None of these
Q-22 JSRGHFAAR T FTE?

hi
01. 5ffex 02. 4#jex
03. 6 =T 04. 3T
05. it 18
Solution for Question 22
eng .
K m T e G
6m
= H
/[Q-tm
KES— — G
6m

Q-23  Inwhich direction is I with respect to G?
eng

01. South-west 02. South-east
03. North-east 04. North-west

05. None of these
Q-23 GFHEeIHIFT R A
hi

01. zferr-ufsm 02. ZfErorod
03. ITT-1= 04. ITo-gfarey
05,z & 77 T

Solution for Question 23

eng i

I 4m

6m -~

Passage for Question 11, 24, 25, 26, 27 (ST-2054RRBPOMAINS(16-20R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

Nine person Z, B, X, D, V, F, T, H and Q lives in a building but not necessarily in the same order. There are nine floors in that building and only one person live on
each floor. There are four colours Green, Blue, White and Black, each colour liked by two person and one colour liked by three person, but not necessarily in the
same order. The ground floor is numbered one and above the floor is numbered two and so on till the topmost floor numbered nine.

H likes Green colour and lives on even numbered floor. Z lives on even floor that is below from floor in which H lives. Only one person lives between Z and the
person who likes Black colour. The one who likes White colour lives on the second floor. V likes Blue only with one other person who lives immediately above to
V. The person lives on the top floor and the third floor from the top likes the same colour. D lives on the immediate above from floor that Q lives floor who likes
Green colour. There is one floor between those floors in which F and T live. Both F and T like the same colour. D does not like White colour. X lives immediately
above to the one who likes Black. Q does not live on floor 5.

hi Passage

Fafafaa ITasTd &1 eamgd® Aegaa w1 AT A= FRwag vt ® sacdHt

dt=afe Z, B, X, D, V, F, T, H 3T Q UF THTXA H WA &, ITohe STt 751 o 361 % /21 | 3umea § +t 6forer € =i us @i 9¥ e v =1f<e w@ar gl
T MG, AT, THE T FHTAT &, ToAT W7 &1 ATE THE Fd ¢ 3T T W A ATE THE Fd &, AT STt Al (6 SHT HF | gl qad #f 971 '1' g
ITF UL T AHISorer Y AT 2! g i THT A Aany off T g9y Suy /it T §=1r9’ 2




H T 237 47T 79 8 3T 98 89 Hed7 I ¢ TgaT gl Z UF T9 Teq7 ae T¢ H 3 T F {1 TgaT 2| Z T FTeAT 37 I86g F q7f SAE F a9 § Fael U

=f<r T2ar g1 o =af<h T 9%a 31 THE ¢ 98 TAY a9 T Tgal gl V Had U 7 i<k % |1 AT TN THE FAT g ST V F TA S0% AT a T gl

g1 ST =T<h Ja¥ FUT % T U Tgal § 3T S ATE U F T T I TgaT § U gf TN T6HE F3d g1 D, Q F T F A ¥ AT I I TgaT g ST g<r
W 9GS FAT 81 F 3T T a1 & 91 § el U ao7 g1 F 3T T 1 T g1 W1 968 Fd 3| D G%a 7 T6% 781 HLdr gl X, FHTAT W1 T6 L qTel AR
F A HI TEAT ) Q T 5 T L ¥ 2

Q-24  IfF lives on prime number floor then who lives on top floor and likes which colour?
eng

01. B-Black 02. T - White
03. Q- Green 04. 7 - White
05. V-Blue
Q-24 T[T F 97T H&AT T U2 T2AT & T B 9T G 92 T2qT ¢ 3T o6 7 HT 868 F2dT 82

01. B - e 02. T-T%e
03. Q-gr 04, 7 _-9%<
05. v -

Solution for Question 24
eng | /T |White |
H |Green
F/T | White
z Blue
Blue ‘
Black |
Green
White |
Black |

BN WRUVOON®Y

m X 00 <

I EIEEETE N

Q-25 Which of the following colour does X like?
eng

01. Green 02. Blue
03. White 04. Black

05. None of these
Q-25 = HF&E a1 X grr wHe o smar 82
hi

01. zIr 02. =T
03. O%= 04. =TT

05. T & FrE AEF

Solution for Question 25
eng F/T | White |
H | Green
F/T | White
Blue

Blue
Black

Green
White |
Black |

HINWRWUON®W

WX 0 U< N

1522 2227|

Q-26  Which of the following combination is true?




eng

01. F-Blue 02. T-Green
03. V-Black 04. X -Black
05. Z-Blue
Q-26 fA=fafad & & #19 a1 9 q2t 82
hi
01. F -+ 02. T-7T
03. V-=FToAT 04. X - =TT
05. 7 -+
Solution for Question 26
eng 9 | F/T [White|
8 H | Green
7 | F/T |White
6 Z Blue
5 V | Blue |
a4 D Black
3 Q |Green
2 X | White|
1 B | Black |
hi 9 F/T | wg |
8 H e
7 BT | wve
6 z T |
s v orar |
4 D HIAT
3 a = |
2 x | =¥
1 B BT

Q-27  Onwhich of the following floor T lives?
eng

01. First 02. Sixth
03. Fifth 04. Seventh

05. None of these
Q-27 T TwfafaT § & g 9o 1w @marg?

01. wgeft 02. =&
03. gi=t 04. Tl

05. =% # AL T

Solution for Question 27
eng F/T __White_‘
H |Green
F/T | White
4 Blue

Blue |
Black |
Green
White |
Black |

HNWA U ONO®OW

WX P00 o<

1%

B NlW A N O N OO

Passage for Question 10, 12, 28, 29, 30 (ST-2054RRBPOMAINS(11-15R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

Twelve people are sitting in two parallel rows containing six people in such a way that there is an equal distance between adjacent persons. Intow I- A, B, Z, D, E
and M are seated and all of them are facing south. In row II- P, K, R, S, T and G are seated and all of them are facing north. Therefore, in the given seating
arrangement each member seated in a row faces the member of the other row.

Immediate neighbours of D have the same gender but opposite with respect to D.
The person who is sitting in front of each other is married couples.
P and B are married couples and is sitting one of the extreme ends of the line.




G sits third to the right of S who is facing the person who is an immediate right of T’s wife.
D sits fourth to the right of Z who is the husband of R.

K is the husband of E and the immediate neighbours of K are not females.

M is sitting to the left of B and is not the spouse of T.

hi Passage

rafarfag STasTh £ 1 samgd s stegga v A= ooyt F sardifmr

g ATh &1 THTAE LT § T I¥ F: AT 20 ThE F 95 ¢ T afereme satrai &= ff g a0 81 9fth-1 § A, B, Z, D, E T M % g T F 79y
Fieror Y T 39 ¥y 1 ARA-IH P, K, R, S, T 3T G T g 37T F T9ft I T oMY 39 T2 g1 THACT, &T AT T SAaTeT § UF Ui F7 T gaed At
GfF F 7T HEEAT & 9VE g

D % TR TETEHAT T ST T9 g AT D ¥ waer § fFroda 81

T THL % ATHA S5 AT AE (aaTed &l

P 37 B faamfea sire € i< ufer & foredt v siftm ge we 4% 2

G, S % T T F31 2 ST T Y 0t 3 T a1 98 =afn & A7 39 @R

D, Z % =74 =TT 93T €, ST R &7 9T 31

K, E &7 9fd g 31T K % T TS Afgars 981 81

M, B % 9T 3T § 31T T &1/ afa/ae 721 21

Q-28  Which amongst the following is true regarding A?
eng

01. Aisinfrontof R 02. A and B are the immediate neighbour of each other
03. A is opposite of T 04. A is not the immediate neighbour of E

05. A is the wife of K
Q-28 THHHAF =Y H HA-A1 7 82

hi
01. A, RFHAHTE 02. A 3T B UH-HY F qEd THT &
03. A, THBTaag 04. A, E T qEd TSR 781 &
05. A KFT et e

Solution for Question 28

™ PFFPPT
hddddd

LT
badddd

Q-29 How many persons are seated between R and T?
eng

01. One 02. Two
03. Three 04. Four

05. More than four
Q-29 R T &= fohaw =af<h 98 82

hi
01. = 02. =7
03. &7 04. =TT
05. =77 7 srfer

Solution for Question 29

" IRTRYR
badddd
T IReRTR
bdddd



Q-30  Who amongst the following sits third to the left of S’s husband?

eng
01. G 02. K
03. A 04. B
05. M

Q-30 fAwfofed HFF19 S F I % a1 THT 927 82

hi
01. G 02. K
03. A 04. B
05. M

Solution for Question 30

= 979999
b4dddd
LR E
£4d 444

Passage for Question 31, 32, 33, 34, 35 (ST-2054RRBPOMAINS(6-10R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

Eight students are A, B, C, D, E, F, G and H. Each person has different heights like -165, 173, 175, 180, 183, 185, 187 and 188 (in cm.), but not necessarily in
the same order. Each person likes different colour like- Red, Green, Pink, Purple, Yellow, Blue, White and Black, but not necessarily in the same order.

G does not like Yellow or Pink. More than three-people is taller than the one who likes Green. D is shorter than A but taller than G whose height is 183 cm. Only
the one who likes Red colour is shorter than the one who likes White colour. H likes blue colour. E is taller than H but shorter than C. B’s height is less than 180 cm.
B is shorter than D but taller than F. The person whose height is 187 cm likes Purple colour. H is not the shortest person. Height of E is 180 cm. The height of A is
not 188 cm and is taller than the one who likes Yellow colour.

hi Passage

fRafafaa srasrd &1 samgd® aregga FL AT R fFRwag vt ® sacdifo)

M3 FTA A, B, C, D, E, F, G 3T H g TIF SAT<h il SRI-3TeT AaTs 165, 173, 175, 180, 183, 185, 187 3T 188 (FHY. #) &, ATha ST=<T gl o =2t &%
H g AT SAT<h AET- 3T W ATA, ZT, AT, ST, TAT, AT, T 3T FTAT THE FIAT &, AT ST qgl 1o 8T HF H gl

G 1 EYT AT AT T[T g 721 1 A F srferw =aftw g T w6 A a1t AR T AG 21 D, A ¥ Bier 8, Af G & 4 2, Py Far 183 7y 2
Fael Ueh fSIE ATl 47 96 & 98 Aha 47 T86E F2 el F el gl H a7 {161 397 96 g1 E, H ¥ &7 &, | C ¥ Zrer 81 B Y daTs 180 I+ 7 %97 21 B,
D A GieT g, AThA F & et g1 o =af7r iy 312 187 37fY 8, 39 v+t 71 weie 81 H 9= FreT =ai<h 781 81 B #7 «fars 180 FHT 81 A T «iars 188 #HT
Tl § 3T ag dIeT WM THE FIA a1 1w & A4l g

Q-31  Who among the following likes White colour?

eng
01. D 02. F
03. C 04. B
05. A

Q-31 Fwfafed § 7 g 9% 31 749E 82

hi
01. D 02. F
03. C 04. B
05. A

Solution for Question 31

eng 188 187 185 183 180 175 173 165
G = A > D > 3 > ik > H = B > F
Pink Purple Yellow Black Green Blue ‘White Red

hi 188 187 185 183 180 175 173 165
¢ » A > D * G *E > H > B »F



wAT BT AMT WRE 0 W

Q-32  How many of them are definitely shorter than the one who likes Green colour?
eng

01. Three 02. Four
03. Five 04. Two

05. None of these
Q-32 = & oA 237 I 96T A ATl Afh 7 [ a7 s 82

01. T 02. 9%
03. T 04. =7
05. =% A F1E T

Solution for Question 32

eng 188 187 185 183 180 175 173 165
cC > A > D > G > 'E = H = B > F
Pink Purple Yellow Black Green Blue White Red
hi 188 187 185 183 180 175 173 165
c = A > = S G * E > H > B = F
FATET e Lic | T iy Eic] wihe Eics

Q-33  Which of the following person is third from the left?
eng

01. D 02. F
03. G 04. BorG

05. Cannot be determined

Q-33  fAwforfea # & w9-a7 =4t a1 7 A 82

hi
01. D 02. F
03. G 04. BTG
05. T TE FT qHA

Solution for Question 33

eng 188 187 185 183 180 175 173 165
G > A > D > G > B > H = B > F
Pink Purple Yellow Black Green Blue White Red

hi 188 187 185 183 180 175 173 165
¢ > A > D = G * E > H > B »F
EGicil #amet drar e /| Hrar Eir i

Q-34 If another student J who is taller than E but shorter than D is added to the group, which of the following will be definitely true?
eng

01. G and J are of same height 02. Jis taller than D
03. Jis shorter than H 04. Jis taller than G

05. None of these
Q-34 =3 uw ey g J = wg ® Afeafera fram ST, S E & s AfE D & grer € ar e § & wiar [t w1 & o g 2
hi
01. G 3f¥ J &t ars qume & 02. |, DIFETE
03. JHEZETE 04. J,GHETETE
05. =8 F FIE Al
Solution for Question 34
eng 188 187 185 183 180 175 173 165

cC = A > o] - = B = H > B > F
Pink Purple Yellow Black Graen Blue White: Red

hi 188 187 185 183 180 175 173 165
c = A > D > G = E = H > B = F
Ecicit Eoicid drar wrAT oy EicH e i

Q-35  Which of the following is definitely true?
eng



01. G is shorter than F 02. C is shorter than the one who likes Pink
03. F is taller than the one who likes Red 04. B is taller than the one who likes Red

05. All are false
Q35 e diar A ar i = e 0

hi
0l. G,F¥aers 02. C, TETET [ qHE FL AT AE T FraT g
03. F, Tt W7 q8€ e AT ARF A oiarg 04, B, ST GT THE FLA ATl A1k F a1 &
05. =+t srEcT g

Solution for Question 35

eng 188 187 185 183 180 175 173 165
cC > A > D > G * E * H = B = F
Pink Purpte Yellow Black Green Blue ‘White Red

hi 188 187 185 183 180 175 173 165
cC > A > [ G > E = H = B > F
mAd dE Lici AT 21l dran g

Passage for Question 36, 37, 38, 39, 40 (ST-2054RRBPOMAINS(1-5R)2019)
eng Passage

Study the following information carefully and answer the questions given below.

P,Q,R,S, T, U, V,Y and W are students of a school. Each of them studies in different standard from Standard IV to Standard XII but not necessarily in the same
order. Each of them has a favourite subject is English, Science, History, Geography, Mathematics, Hindi, Marathi, Biology and Sanskrit not necessarily in the same
order.

The one who likes Biology does not study in Standard VII or Standard IV.

The one who likes History study in either Standard XI or Standard XII.

P like History. W does not study in Standard IX and Standard V1.

Q studies in VII Standard and does not like Mathematics.

R likes English and does not study either in Standard V or Standard IX. T studies in Standard VIII and likes Hindi.

The one who likes Science studies in Standard X. S studies in Standard I'V.

W likes Sanskrit. V does not study in Standard X and Standard V.

The one who likes Geography studies in Standard V.

hi Passage

fafafaa ITasrd w1 eamgd® Aegga w2 AT A= Fwag vt ® sacdHit

P,Q,R,S,T,U,V,Y 3T W UF T F G 3| ITH & TF FeAT [V & FHeT X1 T AeT- T FeAT H FETAT FId 8, ATh STl dgl (o 61 F7 7 2l
ITH F T FT THETT [T -6, f@sm, shiem, s, wiom, R, 7y, Sta @5 oie S50 €, A6 Sedt Tal 16 <6l %7 7 2T

ST =1f=R ST =T oo F3aT & 98 ST VILIT &7 [V H 37299+ 781 FedT gl

g AR ST STAg™ THE FaT 8, FET X1 AT FaT X1 H TeI7 F2dT 2l

P, TfETe THE FTAT 81 W, FedT [X 3T F&qT VI H Se7g+ T2 FeaT gl

Q, FeIT VI & 31e73+ T g i< 0 ueis 981 T gl

R S3ISY T8 AT & ¥ g FeAT V AT HEAT [X F ST 751 Hear g T, FeaT VI § 9zt g &< Fd woie F#zar g1

g TR ST (ST I8 F¥dT 8§ FeaT X ® 9gar g1 S, AT IV H uzar 2|

W T TERd THE 1V, FET X 3T FAT V H 7L TZar g

g AT ST T THE F2dT g FeaT V H T g

Q-36 Which of the following combination of student-standard-subject is correct?
eng

01. T-VIII-Mathematics 02. W-VII-Sanskrit
03. Q-VII-Geography 04. V-X-Science

05. V-IX-Biology
Q-36 fa=mdt -FaT - fBw F1 Fafered § § FF-97 936 95l 8 2

hi
01. T-VII-Tfor 02. W-VII-H&Ha
03. Q-VII-SFmre 04, v-X-fasme
05. V-IX-Sta fasm=
Solution for Question 36
eng P | XUXIl| History
Wil Marathi

R |V English




Q-37
hi

eng

Q-38

eng

Q-38

hi

S|V Mathematics
T Vil Hindi
[V Y Geography / X Science
Vol IX Biology
W | XIXI | Sanskriti
Y X Science [ V Geography
P x/xn sfoem
Q Vil AT
R vi ol
s [\ afora
T vin &
u V| e [ x R
v 1 i fwm
W XX ik
¥ X | Frem /v osEier

In which standard does V study?

01.
03.
05.

01.
03.
05.

v
X

XII
V T FeaT § TEar 82

v
X

X
Solution for Question 37

XK

History

VIl

Marathi

Vi

English

v

Mathematics

Vil

Hindi

Vi

Geography / X Science

IX

Biology

XIEXI

Sanskriti

P
Q
R
S
i
u
v
W
Y

X

Science | V Geography

X

1/ st

Vil S

Vi o

w T

vl &

v | gEie [ x R

X

X St R
1/ biks dod

<|lg|=z|ec|(d|w|=|[p]|=

X | B /v e

Which subject does Y like?

01. History
03. Mathematics

05. Either option 02 or 04
Y T Fxe =7 Fra g 82

01. '{]%g‘rq
03. wfora

05. o7 7 farsreT 02 3T 04

Solution for Question 38

eng

P | XIEXH|  History

Q | Vi Marathi

R [ Wl English

S|V Mathematics

T [ Vil Hindi

U (v Geography / X Science

V|IX Biology

W | XIZXIl | Sanskriti

Y X Science | V. Geography
P X s
a Vil AT

02.
04.

02.
04.

02.
04.

02.
04.

o=

VII

Geography
Science



Q-39

eng

R Vi Frarsft

s v frE

T Vil &=

u V| s 7 x faemer
v X S R
Wi e

¥ X | e /v

Which subject does S like?

01. Geography

03. English
05. None of these
S T &I A7 fawT 16w g2

0L sgefrer
03. =St

05. =% FFTE A

Solution for Question 39

eng

Q-40

eng

XIXI|  History
Vil Marathi
Vi English

P
Q

R

S|V Mathematics
T [ VIl [ Hindi
u
v
w
Y

v Geography / X Science

X Biology
XUXI | Sanskriti
X Science | V Geography
P Xi/xu sfERT
Q Vit TS
R Vi et
s w fora
T Vil e
u v | sEie /xR
v x S R
w| XX FeFfa
Y x | B /v o

In which standard does W study?

01. vII
03. X

05. v
W T FeT § T 82

01. VII
03. X
05. v

Solution for Question 40

eng

El| History
Vil Marathi
Vi English
v Mathematics
Vil Hindi
v Geography / X Science
IX Biology
XIFXI | Sanskriti
X Science /| V Geography

XIfXI sfae
vil S
Vi 3
w o
vl &
V| e / x faeme
X S e

Xi/xi ks At
X | B /v s

MHNEEEE R EE

< |2|<|c|(A|lw|=m|p|®

02.
04.

02.
04.

02.
04.

02.
04.

Mathematics
History

XII

XII



Q-41

eng

What approximate value will come in the place of (?) in the following question ?

(107.98) +(29.12F - 7 =8424.15

01. 5400 02. 4800
03. 4180 04. 5500
05. 4080

o wor # weram=s =g (2) 3 ST 9% ST 69T 9T ST

(107.98) = (29.12)° -7 =8424.15

01. 5400 02. 4800
03. 4180 04. 5500
05. 4080

Solution for Question 41

eng

Q-42

eng

11664 + 841 — 8424 =7
12505 — 8424 =7
774080

11664 + 841 — 8424 =7
12505 — 8424 =7
?=4080

‘What approximate value will come in the place of (?) in the following question ?

7.89% of 798.98 x 13.79% of 840.79 =?

01. 7000 02. 6800
03. 8200 04. 7550
05. 8500

FrerferfEr wor & werEmas g (2) 3 T 9% SRR 9T /I AR 2

798.98 =T 7.89% x 840.79 T 13.79% = ?

01. 7000 02. 6800
03. 8200 04. 7550
05. 8500

Solution for Question 42

eng

Q-43

eng

SDDXSXSJ.DXM
100 100

?=64x117.6
? " 7526

800x8 840x14
100 © 100
?=64x117.6
? = 7526

=it

2

What approximate value will come in the place of (?) in the following question ?

7400 % /7750 = 7— /13450

01. 6800 02. 7200
03. 7700 04. 8100
05. 8210

Trerferfera woit & werar=rer =g (7) % T T ST AT /I T2
7400 x+fT750 = ?— /13450



01. 6800 02. 7200
03. 7700 04. 8100
05. 8210

Solution for Question 43

eng

Q-44

eng

86 x88+116="2?
7568 + 116 =?
?="7684

86 x88+116="7
7568 + 116 =?
?7=7684

What approximate value will come in the place of (?) in the following questions ?

/32768 x 34.899 - 4.987 = 7+ 86.14

01. 140 02. 128
03. 138 04. 135
05. 145

FraferfE s ® werar=e freg (2) % T 9% ST 9T /I S
/32768 x 34.899 - 4.987 = 7+ 86.14

01. 140 02. 128
03. 138 04. 135
05. 145

Solution for Question 44

eng

Q-45

eng

Q-45
hi

32x35+5=?+86
32 x7—-86=?
?=224-86
?=138

32x35+5=7+86
32 x7-86=?
?=224-86
?7=138

‘What approximate value will come in the place of (?) in the following questions?

864.799 x 39.012 - 72.899 x 14.02 =?

01. 35000 02. 34200
03. 32700 04. 34000
05. 36500

el v 8 vwrams B (2) F 2 9 SR H T 91 s

864.799 x 39.012 - 72.899 x 14.02 =?

01. 35000 02. 34200
03. 32700 04. 34000
05. 36500

Solution for Question 45

eng

Q-46

865 %39 -73 x 14 =?
33735 -1022 =?
7732700

865 x 39 -73 x 14 =?
33735 -1022 =?
?=32700

Find out the wrong number in the following number series.



eng

1523 91 263 521 515

01. 23 02. 91
03. 263 04. 521
05. 5

e | JEarat | T ST A1q i)

15 23 91 263 521 515

01. 23 02. 91
03. 263 04. 521
05. 5

Solution for Question 46

eng

hi

Q-47

eng

The series is
X6 —1,x5-2,x4-3,xX3 4.

5 5
x6—1,x5-2,%x4-3,x3 4.......
Find out the wrong number in the following number series.

-2 +5 -1 12 29 166 981

01. 5 02. -1
03. 166 04. 981
05. 29

R T Jaare § TAd §eAT A1 Hi)

-2 +5 -1 12 29 166 981

01. 5 02. -1

03. 166 04. 981
05. 29

Solution for Question 47

eng

hi

Q-48

eng

Q-48
hi

The series is
X147, x2 —11, x3+15, x4 —19......

AT 2
X147, x2 11, x3+15, x4 — 19.....

Find out the wrong number in the following number series.

15 136 55 104 79 89

01. 55 02. 79
03. 89 04. 104
05. 136

e FeaT gaarstt § Toq ST A1 S|
15 136 55 104 79 89
01. 55 02. 79

03. 89 04. 104
05. 136

Solution for Question 48

eng

hi

The series is
+112, 9%, +7%, - 52, +32
qGAT B-

+112,-92, +72, — 52, +32



Q-49 Find out the wrong number in the following number series.

eng
120 15 100 25 75 375
01. 15 02. 25
03. 75 04. 100
05. 375

Q-49 o g gEare § Teq q A T A1 Hitor|

hi

120 15 100 25 75 375

01. 15 02. 25
03. 75 04. 100
05. 37.5

Solution for Question 49

eng The series is
+6, X5, +4,x3,+2

hi qEdT 3-
+6, X5, +4,x3,+2

Q-50 Find out the wrong number in the following number series.

eng
24 12 12 18 27 90 270
01. 27 02. 90
03. 18 04. 12
05. 270

Q-50 7% 9T Earst | T 9 dT AT HIo0)

hi

24 12 12 18 27 90 270

01. 27 02. 90
03. 18 04. 12
05. 270

Solution for Question 50

eng The series is
1 3 5
xi.xtx E,xei
hi qGAT g-

1 3 ]
xi.xtxi.ﬂ.xi

Q-51 In an examination 35% of the students failed in one subject and 48% failed in another subject while 18% failed in both subjects. If 1200 candidates

eng appeared in the examination, how many students passed in either subject not in both.
01. 465 02. 465
03. 564 04. 560
05. 546

Q-51  UF T0ET H 35% fommff v Ao # st <iior g1 8 T9T 48% gAY fawT #; Srath 18% 1 vt § sreiiet 2 8. Tf aear 7 1200 =t
hi qieaford gu r ar aary & fhae fer=met =1 91 weer foroer ® 21 a1 g8 oo # 919 gu 21 <t a1 7 7=l

01. 465 02. 465
03. 564 04. 560
05. 546

Solution for Question 51

eng 1200
% ((35—18) + (48 — 18) )9 = 564
100% (« )+ )%
hi 1200 2

—— x ((35—18) + (48 — 18) )% = 564

1 0004



LT

Passage for Question 52 (passge for question (16-20))
eng Passage

Study the following table carefully and answer the question.

Percentage of unemployed male and female and the total population for different states in 2008 and 2009.

State 2008 2009

Male Female Total population Male Female Total population

M F T M F T

A 12 15 32 7 8 35
B 8 T 18 10 9 20
C 9 10 28 10 12 H
D 10 6 24 8 8 30
E 6 8 30 7 6 32
F z 8 28 8 7 35
M = Percentage of unemployed male over total population
F = Percentage of unemployed female over total population
T = Total population of the states (in lakhs).

hi Passage
F=r & T ATl AT eATIEE AeATAHRT T F ST A0 -
Y 2008 TAT 2009 F FEATH= T5AT H ST [T TAT AT T TA9TT TAT F/A STTEEAT (ATET )

— 2008 2009
oY A A ATaEm oY Al A ATaEAm
M F T M F T

A 12 15 32 7 8 35

B 8 7 18 0 9 20

c 9 10 28 10 12 M

D 10 6 24 8 s 30

E 6 8 3 7 6 32

F 7 5 28 8 7 35

M = Fo STAHEAT | SR TEUT FHT Tiaerd

F = o SE&AT § SIS Jigarst o7 giqerd

T = TA1 A /A AAEEAT (ATET H)

Q-52 Number of unemployed males in state A in 2008 was what percent of the number of unemployed females in state E in 2009?
eng

01. 66 02. 50
03. 200 04. 133

05. None of these
Q-52 Y2008 § 5T A H JISTIE &1 AT H&4T, a9 2009 H 7757 E § JISI AT T ST 7 e sfaerd 22
hi

01. 66 02. 50
03. 200 04. 133
05. =3 & FrE AR

Solution for Question 52

eng Number of unemployed males in state A
) _ 12
in 2008 = 32,00,000 * ==
= 3,84,000
Number of unemployed females in 2009
in State E

6
= 32,00,000 » 100
=1,92,000

84000

3
192000 <190

Required percent =
=200%
hi T 2008 ¥ 7 A ¥ WIFR gHIT D
: 12
e = 32,00,000 x - =3,84,000

a9 2009 ¥ ¥row E ¥ SRivATR Aferart

. 6
T T = 32,00,000 x - = 1,92,000

100
384000
anfre gfrera = 192000 ™ 100
=200%

Q-53 Mathew got 42 marks in Biology, 51 marks in Chemistry, 58 in Mathematics, 35 marks in Physics and 48 marks in English. A student can get maximum 60
eng marks in each subject. How much percent marks did Mathew get in the examination?



01. 76 02. 82
03. 76 04. 78

05. None of these
Q-53  F=L T ShE fase # 42, T8 @5 # 51, Tiora | 58, Aifaw s § 35 i< st 7 48 375 fen s fouw § us fmmdt stfeea+ 60 =i
hi ITH T qHdT | T | 727 7 foraer wiaerd e ara o

01. 76 02. 82
03. 68 04. 78
05. =% F F1E AT

Solution for Question 53

eng percent marks = % »100 =78

hi 234

Tfera 3= <27 . 100 = 78
300

Q-54 The sum of length, breadth and depth of'a cuboid is 19 cm. and its diagonal is 5, /5 cm.What will be its surface area ?
eng

01. 196 cm2. 02. 256 cm2.
03. 169 cm2. 04. 236 cm2.

0S. None of these
Q-54  UF =ATH AT TS, AETE ST AL AW 19 FAY. 2 307 z@eh faawly, 5 AT 21 SHAT Aqg 7 &=het 47 22

01. 196 T2 02. 256 T2
03. 169 THi2 04. 236 T2
05. =8 J FIE AT

Solution for Question 54

eng Hb+th=19_ (D
P+b2+h2=125 (1)
Squaring equation (I)
(I+b+h)% = 361
(I+b+h)? — SA = (12+b%+h?)
(1%+b%+h?) =361 — 125

=236 cm?
hi I+b+h = 19 [0}
12+b2+h2 = 125 (I
THBRT (1) BT T B W

(I+b+h)? = 361

(I+b+h)2 — SA = (12+b2+h?)
(I+b%+h?) = 361 — 125
=236 cm?

Q-55 The price of a product first increased by 20% then decreased by 10% and again increased by 25%. If the final price is Rs. 5427. What is the original
eng price‘?

01. Rs. 4820 02. Rs. 4230
03. Rs. 3830 04. Rs. 3690

05. None of these
Q-55  UF AEG & oA § TEA 20% HT I F¥ TS I9H ATE 10% T FHT 67 TS T/ 25% F i 77 &1 et 8 T ofvq | G 5427 =, g a1 =g #1
hi FTEA T T T FT 82

01. 4820 %. 02. 4230 %.
03. 3830 =. 04. 3690 =.
05. =H T FIE A1

Solution for Question 55

eng xx 120 90 125 _ 5497

100 100 * 100



x=22 100100100 _ 5. 4000

120x90x125
hi 120 90 125
XX o e —
100 <700 *100 227
< = HM27 x100 X100 <100 _ 4020 =
120 90x125

Q-56 A village having a population of 5000 requires 150 litre of water per head. It has a tank measuring 20 m. X 15 m. x 5 m. The water of this tank will
eng sufficient for -

01. Sdays 02. 6days
03. 2 days 04. 4 days

05. None of these
Q-56  UF i T TAEEAT 5000 & WA H TAF ATh & (o117 150 e THT 6T AEeTFaT il gl TS TH & il e77ar 20 /1. x 1S HL x SHL AT FH F
hi T O fohae faat o for oot 82

01. 5fq 02. ¢feq
03. 2 faq 04. 4t
05. =% ¥ FTE T

Solution for Question 56

eng Water reqd. = 5000 x 150
= 750,000 litres = 750 m3
Volume of tank = 20 x 15 x 5 = 1500 m>

1500
Reqd.no of days =_""" =2 days
g Y 750 Y

hi 9T T rer9TFaT = 5000 x 150
= 750,000 <fr. = 750 #.3
& T A = 20 x 15 x 5 = 1500 #.3
wofre et Y Fear = 1900 _ 5 g
750

Q-57 If selling price of an article's unit is decreased by 60% then there is 10% loss on the cost price. What was the initial profit percent ?
eng

01. 115% 02. 130%
03. 135% 04. 125%

05. None of these
Q-57  =fx et a=q & T Ioa 9 60% T FHT FT T SATT a1 HF ToF T 10% FT I 2T g1 ATEAF ATH: F97 o7 2
hi

01. 115% 02. 130%
03. 135% 04. 125%
05. =% F F7S T

Solution for Question 57

eng Let initial price = Rs. 100
S.P. of 60% (decline) = Rs. 40
C.p. = 40100 _ 400
90 9

Profit = 100 — 400 _, 500
9 9§

Profit % =299/9 . 100
40079
=125%

hi AT 9K BT ARSI 100 2. AT T D 94 H 60% B HHI & 918 faspd I = 40 <.

100 400
Y YA =40 __ = %,
90 9

400 _ 500

M =100- - _,
9 9
e = 20079 400 =125
400/ 9



Q-58 A train is running at the speed of 80 km/hr and covers a certain distance in 4.5 hours. What will be the speed of train in order to cover the same distance in
eng 4 hours?

01. 100 km/hr 02. 70 kmv/hr
03. 85 km/hr 04. 90 kmv/hr

05. None of these
Q-58 U TERMET 80 /.. AT AT F FAN & 3T UH 2 T A7 4.5 5 § T FLAT 5| ST G 1 4 5 H T FHIA 5 (o707 LTS il =91 T g2

01. 100 fr/. 02. 70 /.
03. 85 fo. 04. 90 for/er
05. =% T FIS AT

Solution for Question 58

eng Distance = 80 x 4.5 = 360 km

Speed = ? —gg km/hr

hi AT =80 x 4.5 = 360 fFft

=TT = ?:90%/‘#.

Q-59  Milk and water are in the ratio of 3:2 in a mixture of 180 litre. How much water should be added so that the ratio of the milk and water becomes 2:3?
eng

01. 108 litres 02. 90 litres
03. 72 litres 04. 30 litres

05. None of these
Q-59 180 rex For=ror & FoT i< TTHT T STqTT 3 : 2 81 T T FohaetT /1= 37T foemeht St =iy o6 o S aiit T s1qaTa 2: 3 &1 S

01. 108 =ftex 02. 90 ez
03. 72 fex 04. 30 fiex
05. =% T FIS Al

Solution for Question 59

eng Milk = 108 litre
Water = 72 litre
108 2
72+rx 3
144+42x = 324
2x =180
x =90 litres

hi ¢ = 108 Sfiexe
Tl = 72 Tilex
108 2

2+x 3
144+2x = 324
2x =180

X = 90 afiex

Q-60 Three taps A, B and C can fill a tank in 12, 15 and 20 hours respectively. If A is open all the time and B and C are open for one hour each alternatively, the
eng tank will be fill in -

01. 6hours 02. 5hours
03. 71 hours 04. 7 hours
2
05 1 hours
q_-
2

Q-60 T T A, B 3T C farefT 21 F7 FHA: 12, 15 37T 20 =i # 924 g1 X A FT T 0T TF GAT 7@ ¢ AT B 3T C T T TAF & TF He &
hi AT IT AT | G gl ST fohd s T80T § A SATAT?

01. 6= 02. 54
03. 71‘5% 04. 7 %<
-5



152
83
Solution for Question 60

eng (A+B)'s 1 hour work = l+ 1_3
12 15 20

(A+C)'s 1 hour work = _+ 1_2
12 20 15

2 hours work = 3+2 17
20 15 60
Remaining part=1— 17 1
60 20
Total time = 6+1 =7
hi (A+B)$T1a%mwf-1+1 3
12 15 20
(A+C)m1a%$ra7rzf—l 1_2
12 20 15
2% B P = 3 2 _Yi
20 15 60
dvum=q-17_ 3
60 20

A G =6+1=7

Q-61 Pure milk costs Rs. 12 per litre. A milkman add some water to 16 litres of pure milk and sells the mixture at Rs. 10 per litre by making 25% profit. How
eng many litres of water does he added?

01. 5 litres 02. 6 litres
03. 8 litres 04. 12 litres

05. None of these

Q-61 UEITFTHT A 12 F. I #fTeX g1 UF THATAT 16 A2 (& T H Fg T (HATAT & ST ITHT 10 F. T fex | F=HhT 25% 1 AT Toia
hi F2d g e sfex ot ferrar

01. 5+fex 02. ¢+fiex
03. g<fiex 04. 12 =<
05. =% & FE T

Solution for Question 61
eng Milk Water
12 0
N,
8 / \ 4 =2

10x100

Cost price of mixture = EE & Rs.
8

1
Water (added) = 16 x 2 = 8 litre

hi o g
12 0
/8\
8 4 =21
10x100
s &1 ma qE= — o =8

mﬁ‘r(ﬁlaTmeT)=16’¢% =8cfley

Q-62 In each of the following questions, two equations are given. You have to solve them and

eng
La4x+7y=42 IL3x—1ly=-1

01. Ifx>y 02. Ifoy



03. Ifx<y 04. Ifxgy

05. Ifx =y orrelationship can not be
established
Q-62  Twforfad st ® &1 dtor (1) i (1) &7 1 8 31 g0 g Ao &ie-

L4x+7y=42 IL3x-11ly=-1
01. uﬁx>y 02. Z[ﬁny
03. qﬁx<y 04. Z[ﬁxgy
05. 7f x =y 77 Feaey worfuq L T S

TRAT B

Solution for Question 62

eng From Eq. I. and II.
y=2
x=7
X>y
hi TH R | SR L &
y=2
xX=7
x>y

Q-63 In each of the following questions, two equations are given. You have to solve them and state the correct relationship-
eng

L9x2-29x +22=0 IL7y?—7y—12=0
01. Ifx>y 02. Ifoy
03. Ifx<y 04. Ifxfy

05. Ifx =y or relationship can not be
established
Q-63  fo=forfad weai & &1 &eaeor (1) i (1) F2r 7 & T ST g1 HITo70 Sii< Jg! dvawey ST it

L9x2-29x +22=0 IL7y2-7y—12=0

01. qﬁx>y 02. Zl'%ny
03. qﬁx<y 04. ?T%X
05. f x =y 7T Feaey wrfaq T o S
TFAT B
Solution for Question 63
eng L9x%-18 - 11x+22=0
9x (x-2) - 11 (x-2)=0
J|:=2,1§'I
I 7y% -14y +6y - 12=0
7y (y-2) +6(y-2) =0
y=2,-8, x>y

hi L9x2-18-11x+22=0
9x (x-2) - 11 (x-2) =0
:\:=2,1§1
1L 7y% -14y +6y - 12=0
7y (y-2) +6(y-2)=0
y=2, -8 x>y

Q-64 In each of the following questions, two equations are given. You have to solve them and state the correct relationship-
eng

Lx%+14x+49=0 IL 2y% 17y + 36 =0
01. Ifx>y 02. Ifoy
03. Ifx<y 04. Ifxgy

05. Ifx =y orrelationship can not be
established



Q-64
hi

Frerferfer st & <7 afiereor (1) sfe (1) 23 1 & S aiseor gof FIforT sire ot avewer st fifra-

Lx%>+14x+49=0 IL2y2— 17y +36 =0
01. qﬁx>y 02. ﬁny
03. uﬁx<y 04. ﬁxgy
05. 7f x =y 77 Ty worfuq T S

TRAT B

Solution for Question 64

eng

Q-65

eng

Lx2+7x+7x+49=0
x(x+y) +7(x+7) =0
x=-7
IL. 2y2 -8y - 9y +36 =0
2y (y-:) -9(y-4)=0
Yzii
X<y
I.x2+7x+7x+49=0
X(x+y) +7(x+7) =0
xX=-7
II.2y2 -8y - 9y +36 = 0
2y (y-;r) -9(y4)=0
Y=ii
X<y

In each of the following questions, two equations are given. You have to solve them and state the correct relationship-

Lx2+14x+49=0 ILy%2+9y=0
01. Ifx>y 02. Ifoy
03. Ifx<y 04. Ifxgy

0S. Ifx =y orrelationship can not be
established
Terferfera woit & < |eiseor (1) 3T (1) o3 1 g <9t g g ST e agt avaey warfu -

Lx%+14x+49=0 ILy2+9y=0
01. FfZx>y 02. FfEx>y
03. Elﬁx<y 04. ﬁxfy
05. =fg x =y 37 T v ALt o o

TFHAT B

Solution for Question 65

eng

L x2+7x+7x+49=0
x(x+7) +7(xt7)=0
x=-7,-7
ILy(y+9)=0

y=0,-9

X2+ 7x+7x+49=0
X(x+7)+7(x+7)=0
x=-7,-7

Il.y (y+9)=0

y=0,-9

3500
3000

aSENnN

Passage for Question 66, 67, 68, 69, 70 (ST-42 CWEPO (96-100) 2014)
eng Passage

Study the following bar graph carefully and give the answer of the questions.
Number of females and males working in five different organisation.

= Male o Female

2750
3250
2750
0

250
2500
2500




b oy o

1750

2000 =

)
1500
1000
500
0

A
Organisation
hi Passage

Raforied ave s 7 sreaa FT Io97 % 3L A0

at= fafore TveAt # FT FIF qTel TEUT AT Tigarsl fif Jer
gwy O Azl

3500 -

3000

12750

2500

2500 -
2000 -
1500 -
1000 -

500 -

Q-66 The number of males in the organisation D is what percent of the total number of employees from that organisation (rounded off to two digits after decimal)

01. 54.17 02. 62.64
03. 52.64 04. 61.475

05. None of these
Q-66 ST D H [EUT T HEAT SHT 5 H Hol HHATIAT 201 ST T Fhae1 T(A9rd 21 (IITAAT 6 AT 31T TF)

01. 54.17 02. 62.64
03. 52.64 04. 61.475
05. =H F 1S T2
Solution for Question 66
eng Required % = 2120X100 _ 5 o530,
6500
hi arefre widera = 2F0X100 _ 45630,
500

Q-67 What is the respective ratio of the number of females to the number of males from organisation A ?
eng

01. 11:8 02. 7:6
03. 8:11 04. 6:7

05. None of these
Q-67 BT A H [EUT T HEAT TAT ATATSA 6T TEAT F He ST & 2

hi
01. 11:8 02. 7:6
03. 8:11 04. 6:7
05,z & T Y
Solution for Question 67
eng Required ratio = 1500 : 1750
=6:7

hi rfTg ST = 1500 : 1750



Q-68 Number of females form organisation E is approximately what percent of the total number of employees from that organisation.

eng
01. 58 02. 60
03. 48 04. 62
05. 55

Q-68 T TeA E ¥ AigaATet it Hear I @eq § FTvq Fa FHATRAT T AT T @ e wfaerd 21

01. 58 02. 60
03. 48 04. 62
05. 55
Solution for Question 68
eng Required % = 2500x100
5250
= 48%
hi o, — 2500x100
5250
= 48%

Q-69 What is the total number of females from all the organisation together ?
eng

01. 11540 02. 11750
03. 12440 04. 10250

05. None of these
Q-69 T HEATHl H F[A wigATSH FiT AT HTE ?

hi
01. 11540 02. 11750
03. 12440 04. 10250
05. =3 ¥ e TN

Solution for Question 69

eng Required Number = 12000

hi sr+fTe H=AT = 12000

Q-70 What is the total number of employees working in organisation C and B together ?
eng

01. 8950 02. 9520
03. 8250 04. 9500

05. None of these
Q-70  FTEA C T B H FTd e ATl HA FHATAT 0] AT FAT S 2

hi
01. 8950 02. 9520
03. 8250 04. 9500
05. =% T H1E TET

Solution for Question 70

eng Required Number = 5000 + 4250 = 9250

hi ar+ftE /=T = 5000 + 4250 = 9250

Passage for Question 71, 72, 73, 74, 75 (ST-122 CWEPO (96-100) 2014)
eng Passage

Read the following graph carefully and answer the questions given below.

Percent profit earned by two companies in different years.

|+Company A —a—Company B |

70-|
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hi Passage

Rerferied I #7 ea = ga® AT {1+ I8 T 747 & I aifu)
Afre aut o 27 A g st wiaerd A

|—.—?h‘l’-tr-ﬁA —k— F=FT B |
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Q-71 If respective ratio of expenditure of company A and B in 2011 was 3 : 4, what was the expenditure in 2011?
eng

01. 21:26 02. 13:14
03. 14:13 04. 26:21

05. None of these
Q-71 =@ 2011 & FFAT A 3% B =TT 7 1T FHALT: 3 : 4 A7, 2011 F T FT AT F4AT 412
hi

01. 21:26 02. 13:14
03. 14:13 04. 26:21
05. =H ¥ IS 7l

Solution for Question 71

eng Ratio =3x%:4x%=39:56

hi = m‘ m— ~
AT = Bx 2 Ax 350 =39:56

Q-72 If expenditure of company A in all the years was Rs. 82.5 lakhs, what was the total income of company A in all the years together?
eng

01. Rs.1.23 crore 02. Rs.95.75 lakhs
03. Rs. 99.85 lakhs 04. Cannot be determined

05. None of these
Q-72  Tft auT § FEUAT A FT AT F.82.5 AT AT AT THT 01 § FFAT A T el 07 47 12

hi
01. =123 %8 02. %.95759M@
03. = 99.85 ATE 04. e 98T FT T
05. =% T FIs AT

Q-73 If expenditure of company B in 2008 and 2009 are Rs.12 lakhs and Rs.14.5 lakhs respectively, what was the total income of company B in 2008 and
eng 2009?

01. Rs.39.75 lakhs 02. Rs.37.95 lakhs
03. Rs.38.75 lakhs 04. Rs.38.50 lakhs

05. None of these
Q-73 =[x 2008 /¥ 2009 H FFIAT B FT T FHA: F.12 ATG AT F. 14.5 AT =T qr 2008 3T 2009 F FFIAT B F¥ et 7 F47 72



01. = 39.75<T9 02. ®.37.959TM@
03. =.38.75 9 04. = 38.50 ATE
05. =% FF1E T

Solution for Question 73

eng Total income = 12 @Hd_ﬁx@

100 100
=16.2+21.75
=Rs. 37.95

hi = 135 150
el AT 12Xm+14.5><m

=162 +21.75
=%.37.95

Q-74 If expenditure of company A and company B in 2012 was equal and income of both companies was Rs.5.7 lakhs. What was the total expenditure of both
eng companies in 2012?

01. Rs.4 lakhs 02. Rs. 2 lakhs
03. Rs.4.2 lakhs 04. Cannot be determined

05. None of these
Q-74 = 2012 F FFAT A 3T FFIAT B FT 77 TWIF & T AT FAIAL 61 A F, 5.7 AT@ 2 A7 2012 H FAT FFAAAT H7 FA AT FT 912
hi

01. =489 02. & 2919
03. =427 04. Rt 2T T Thd
05. =% T IS AT
Solution for Question 74
en : — 140 145
g Total income = Ex W{xm

=5 7-Ex283
5_?_E><“:"_.l
E =Rs. 2 lakh

Total expenditure of both companies = Rs. 4 lakh

hi — gy 140 145 _
BT = Ex 350 "% 100

_.285
5_T—Exm 2

AT AT FFAAAT T H/A AT =% 4 ATG

Q-75 If ratio of income of company B in 2009 and 2010 was 2:3 respectively, what was the ratio of expenditure of same company in both the years?
eng

01. 20:29 02. 9:10
03. 29:45 04. 10:29

05. None of these
Q-75 =% 2009 # 3T 2010 F FFIAT B ¥ ST FT SIITA FH: 22 3 AT AT ZIAT 6T H SEHT FHFIAT 5 77 FHT AT F4T 272

01. 20:29 02. 9:10
03. 29:45 04. 10:29
05. =% T FIS AT

Solution for Question 75

eng Ratio = 2x%;3x%:29:4§

hi — 9,100 3 100 _oq
EREIGE 2x1m_3x145 2945

Passage for Question 76, 77, 78, 79, 80 (ST-122 CWEPO (116-120) 2014)
eng Passage

Read the following pie-chart carefully and answer the questions given below.

Percentage wise distribution of players participating from different countries in Commonwealth Games.

Total number of players = 3200 Total number of male players = 1800
F A F A
18% 21% 299, 20%




hi Passage
freferfd are-=me F7 earg@e steraaae = 0@ T vl F 397 )

TrgHvES @ H A 3o & A0 o arer fgefEat & wiaeraare Eaer
==t 1 fa J=1m = 3200 &Y ==t i 541 = 1800

What is the respective ratio between the number of male players in country B and number of female players in country C?

01. 31:17 02. 35:23
03. 29:13 04. 33:19

05. None of these
Z9T B U= faf=at it 91 o7 291 C § AiRar ==y £t @& & fi= Fwwer: Sqdma #4122

01. 31:17 02. 35:23
03. 29:13 04. 33:19
05. =7 FHrE Aol

Solution for Question 76

eng

hi

Q-77

eng

Ratio =396 : 228 =33 : 19
AT =396 : 228 =33 : 19

What is the sum of number of female players from country D and number of male players from country C?

01. 420 02. 428
03. 424 04. 437

05. None of these
297 D H A faate =i it €T o7 397 C § 70 faaArte =i it ST 7 TR #7497 82

01. 420 02. 428
03. 424 04. 437
05. =% T FIS AT

Solution for Question 77

eng

hi

Q-78

eng

Sum = 168+252 = 420
AT = 168+252 = 420

What is the difference between the number of male players from country A and number of female players from country E?

01. 250 02. 248
03. 255 04. 258

05. None of these
T A H O a2 it TeaT oY 397 E # afgar faanf2=i 1 deam & 8= swae #9782




01. 250 02. 248

03. 255 04. 258
05,z & 778 T

Solution for Question 78

eng Difference = 360 — 108 = 252

hi FaX =360 — 108 =252

Q-79 The number of male players from country F is approximately what percentage of the number of female players from country B?
eng

01. 93 02. 98

03. 88 04. 85

05. 102
Q-79  ZAF H [&EY TSt it 941 397 B H ATgaAT fartSat it €1 7 e T fhae sfaerd &2
hi

01. 93 02. 98

03. 838 04. 85

05. 102

Solution for Question 79
eng Req. percent =§ %100 = 98 (approx)
404

hi arire wfrerd =229 %100 = 98 (STITHRT)
4104

Q-80 What is the average of number of male players from country E and number of female players from country A?
eng

01. 242 02. 248
03. 238 04. 246

05. None of these
Q-80 T EH [&EY fGaTieat &t 9T sf¥ 397 A § A faartz=i £t dwear #7 sied #4471 82

hi
01. 242 02. 248
03. 238 04. 246
05. =% T FIE AT

Solution for Question 80

eng

Average = ﬂ =246

= i = 1_30;312 — 246

Q-81 Which of the following city, will host the annual session of the 108th Indian Science Congress on January 3-7, 20217
eng

01. Pune 02. Lucknow
03. Jaipur 04. Patna
05. Jammu

Q-81 fA=fofed @ & %19 &7 912, 3-7 Sad, 2021 F 108 3 T @GS FHHH F ATt a7 7 AT H0?
hi

01. T?r 02. @3,
03. SR 04. AT
05. STy

Solution for Question 81

eng The Indian Science Congress Association (ISCA) announced that Pune will host the annual session of the 108th Indian Science Congress on
January 3-7, 2021.

hi e TTEE Y THIUIH (ISCA) = 5wom i fof qor 3-7 STait, 2021 1 108 o TR I Hidie o aTish @5 s HefaTT Tl



Q-82 Recently who has been appointed as the Managing Director and Chief Executive of Bank of Baroda?
eng

01. Rishi Sethi 02. Challa Sreenivasulu Setty
03. Rajnish Kumar 04. Sanjiv Chaddha

05. Rajeev Kumar

Q-82 T & | & i FETaT % W 3 siT g wrwr F w7 7 fE e e mar g2

hi

01. = &t 02. =t “fifRaree et

03. TSefter FHTE 04. wsfr =gt

05. ¥Tsfia FATT
Solution for Question 82
eng Recently Sanjiv Chaddha has been appointed as the Managing Director and Chief Executive of Bank of Baroda.
hi BT E1 H |t =TT 7 45 SN TSTaT % Yoo (Heere 3T qed F1AH10 % =9 7 7 a7 @ 21
Q-83 Navegaon National Park is located in which state?
eng

01. Karnataka 02. West Bengal

03. Andhra Pradesh 04. Rajasthan

05. Maharashtra
Q-83 ot g JA e s 7 a2

hi

01. Fdfe® 02. afsre ST

03. ey yaor 04. TTsrET

05. wEg
Solution for Question 83
eng Navegaon National Park is a National park located in the Arjuni Morgaon subdivision of Gondia district in state of Maharashtra, India.
hi T TS AT AT F HGTITY T | AT el 3 S(A1 ATt 3uee § Bad U i 32 &l
Q-84  Where is the National Sugar Institute established?
eng

01. Kanpur 02. New Delhi

03. Lucknow 04.  Gorakhpur

05. Varanasi

Q-84 g =T HEATH FEt eATHOq AT AT B2

hi
01. FEE 02. =< feeety
03. @@= 04. TER
05. STroTeY
Solution for Question 84
eng The National Sugar Institute established in 1936, is involved in research, training and advisory services to the sugar and allied industry, and functions under
the Department of Food and Public Distribution of the Ministry of Consumer Affairs, Food and Public Distribution.
hi 1936 H TATIOT TSI AT FEATH, AT T Hag IR F To1T STAEET, TTALAT ST TATGHRTE AT § HTALT 8, 3T Tg STHTH ATHAT, FTT

T AT FAqor HATAT % T 37T AT (Saor faanT o Sfavid F7T3 H7ar g

Q-85  Which state has hosted the Shirui Lily Festival?
eng

01. Assam 02. Manipur
03. Meghalaya 04. Tripura

05. Nagaland
Q-85 T wrow 7 fores foreft wgeme & Asrarit 1 82



01. =gy 02. wforqe
03. THTT 04. BT

05. 9RTeiE

Solution for Question 85

eng Manipur has hosted Shirui Lily Festival.

hi AT 7 e foreft Heeae ot Astar <l 2

Q-86  Dhansiri is river of which state?

eng
01. Meghalaya 02. Assam
03. Kerala 04. Andhra Pradesh
05. Odisha
Q-86  =fHL e 5T A AL B2
hi
01. =TT 02. ¥
03. F¥e 04. gy yaor
05. sfear
Solution for Question 86
eng Dhansiri is the main river of Golaghat District of Assam and the Dimapur District of Nagaland. It originates from Laisang peak of Nagaland.
hi SATET, STHH & AATHTE o7l ST AWTAE % ZHTIE o7l T q& 74T gl g AN 6 ATH 2@ & At g
Q-87 Which of the following is not a Gallantry Awards?
eng
01. Padma Bhushan 02. Mahavir Chakra
03. Ashoka chakra 04. Kirti Chakra

05. Shaurya Chakra
Q-87 fAwfafea & & #1 fizar e 7gl 82

hi
01. 937 «uror 02. wETAT =F
03. 1o =% 04. FHfF =
05. it =
Solution for Question 87
eng Civilian Awards — Bharat Ratna, Padma Shri, Padma Bhushan and Padma Vibhushan.
Gallantry Awards — Param Vir Chakra, Mahavir Chakra, Vir Chakra, Ashoka chakra, Shaurya Chakra, Kirti Chakra.
hi ATTTCE QLEHRTY - TIA T, T7 =, 77 T 312 gy forsguom

AT LIEHTT - THA =9, AT T, H1T T, A9 =7, 914 =1oh, FIfd =161

Q-88 Who is the Chairman of the National Disaster Response Force?
eng

01. President 02. Vice President
03. Prime Minister 04. Minister of Home Minister

05. Loksabha Speaker
Q-88  ITEI STTRT TIATHAT I & AT Al 22

hi
01. rgafa 02. 3uTETEr
03. werre wAT 04. g w=fY
05. FrFaT T
Solution for Question 88
eng The National Disaster Management Authority is the authoritative Apex Body for Disaster Management. The Prime Minister of India is the Chairman of the
NDMA.
hi TP ATTET Tel STTEERT0T, AT Tere o for sferenTies Tatg fMerm 81 9T o Teme § 1 UASUHT & 78] giagl

Q-89  Loktak Lake is located in which Indian State?



eng

01. Tamil Nadu 02. Kerala
03. Manipur 04. Karnataka

05. Andhra Pradesh
Q-89 AT HIoT AT & o o7 | a2

hi
01. FfHemTg 02. %
03. #firqz 04. FeAieh
05. sfiey Taor

Solution for Question 89

eng Loktak Lake is located in Manipur state. Loktak Lake is the largest freshwater lake in Northeast India.

hi A Shiet AT {53 H Ferd | Tehdeh 3 Jarat TR ohl dardl S8 arsl aTT ohl 3t

Q-90 Where is the headquarters of The World Trade Organization?
eng

01. Madrid, Spain 02. Geneva, Switzerland
03. Paris, France 04. Beijing, China
05. New York, USA

Q-90 o ATI oA T HEATAT gl §2

hi
01. #f3s, = 02. S, Raesvde
03. afe, Wi 04. HfSEr, =i
05. =ptsh, 0T
Solution for Question 90
eng The World Trade Organization is an intergovernmental organization that is concerned with the regulation of international trade between nations. The WTO
officially commenced on 1 January 1995. It is headquartered in Geneva, Switzerland.
hi o SATITY T3 UF AT ALRTE TS g ST P F S AT AT 6 [HFAa & qafda g1 o = s sufarawrtes a7 9% 1 S\adt

1995 T ST G =TI THHT HRATAT Faesae % Sar # 2

Q-91  Whatis the position of India in the recently released 'Social Mobility Index 2020' by World Economic Forum?

eng

01. 52 02. 61

03. 76 04. 86

05. 80
Q-91 o oufsis w= a7 ET &1 | ST I Aifaferel 29 2020' § AR i | £AT9 92 22
hi

01. 2 02. ol

03. 76 04. 386

05. 80

Solution for Question 91

eng Denmark is at the top and India at the 76th position in the recently released 'Social Mobility Index 2020' by the World
Economic Forum.

hi s srrfefer W= gTeT g1er &1 | S \rerer Arfaferdy S3e 2020' § T i ®I1e U ST 9 76 o T 9T g

Q-92 Which of the following Indian city has been adjudged as the “World’s most dynamic city’, as per the JLL City Momentum Index, 2020?
eng

01. Mumbai 02. Bengaluru
03. Kolkata 04. Hydrabad
0S. Lucknow

Q-92  Suerue fHE Ariew T3, 2020 F s Aot ® & e At ergw # e ¥ wad witefier ogw F w0 # | G 2



01. s 02. e
03. FrerwTaT 04. Za¥TaTE
05. s[@q3

Solution for Question 92

eng Hyderabad has secured the first place in the list of the world's most dynamic cities. Jones Lang Lasalle (JLL) has recently released the city momentum
index that comprised of 129 cities across the world. JLL evaluated 129 cities and selected Hyderabad as the world’s most dynamic city.
hi FRTETE o AT & qae Aefie g2 it =T § TgT ST ATH 3T g1 ST A9 ATHA (STATA) 7 2T af H g2 7 AT Gaahish ST (6T 8

o AT w2 3 129 98T AT €1 STUATAS 129 9Tl FT qediad a7 i garars 1 g7 % qa9 Aiaefie g F &9 § 747

Q-93  'Chapchar Kut' is a popular festival of which state?

eng
01. Sikkim 02. Mizoram
03. Nagaland 04. Meghalaya
0S. Tripura

Q-93 FTUET FE TR ST T ATHIT AR B2

hi
01. fafgw 02. Oy
03. ATIEE 04. FreTeT
05. Brqer

Solution for Question 93

eng 'Chapchar Kut' is a popular festival of Mizoram. This festival is celebrated to welcome Vasant Ritu.

hi TR e TSI T U SRR RN 2l I8 R Jd g 1 TIRTd i o [oIg AT ST 2|

Q-94  The Dudhwa National Park is located in which State?
eng

01. Assam 02. Maharashtra
03. Tamil Nadu 04. Uttar Pradesh

05. Andhra Pradesh
Q-94 AT L AW 9 TS | BT 22

hi
01. =¥ 02. #ERTY
03. FfFemTe 04. IqT T2
05. sfier gaar

Solution for Question 94

eng The Dudhwa National Park is located in the Lakhimpur Kheri district of Uttar Pradesh.

hi AT TSR JEH ST T o e e i foret 7 feore

Q-95 Who is the present union minister of Animal Husbandry and Dairying?
eng

01. Thawar Chand Gehlot 02. Giriraj Singh
03. Ram Vilas Paswan 04. Uma Bharti

0S. Harsh Vardhan
Q-95 T FAT TYATAT T STLT T i 62

hi
01. T <7 TEeTT 02. frfar fiig
03. TwfEaemE THEE 04. 3T TTTAT
e

Solution for Question 95

eng Giriraj Singh is the present union minister of Animal Husbandry and Dairying. The Department of Animal Husbandry and Dairying, operating
under Ministry of Fisheries, Animal Husbandry and Dairying released 20th Livestock Census.



Q-96

eng

firfirst fre T sl ot ST <o waft ) asToTer ST Y form, et oTer, aRTaTer 3 SRt HATeRT o TefiH s hid g 20 off uxTe
SFRTOMET STRY <Al

The Tiroda thermal power plant is situated in which state?

01. Kerala 02. Rajasthan
03. Madhya Pradesh 04. Jharkhand
0S. Maharashtra

FATraT oo uTer e e e | faa 22

01. FTof 02. TSTETT
03. e waor 04. zEE
05. #=Eg

Solution for Question 96

eng

hi

Q-97

eng

The Tiroda thermal power plant is situated in Maharashtra, India. It is a 3,300 MW coal-based power generation plant.

e o UTe wie gy, 9d ¥ R g1 77 3,300 WAt T Rt A feret seares 59 2

NTPC Dadri or National Capital Power Stationis located in which state?

01. Rajasthan 02. Karnataka
03. Uttar Pradesh 04. Madhya Pradesh

05. Maharashtra
TS ITERT AT TP ST ITaw w2ore fohe 157 | o 22

01. wroreerT 02. FATeH
03. IT I 04, Teq yaor
05. "y

Solution for Question 97

eng

hi

Q-98

eng

NTPC Dadri or National Capital Power Station is owned and operated by NTPC is located in the Gautam Budh Nagar district of Uttar Pradesh, about
48km from the Indian capital New Delhi.

THEITHT ITERT AT I TISTTHT 1A 9T, Tg TASATET o TATH aTell g ¥ FATerd &, ST AT TS 75 et 7 o9t 48 Bt 32
IAL TR % MaAgg T 5t § fRra g

Doddabetta mountainis situated in which state?

01. Karnataka 02. Kerala

03. Tamil Nadu 04. Andhra Pradesh
05. Odisha

EIEEFIRESRE L RN ER K R

01. =TT 02. FTeT

03. FfferTg 04. =gy g=or

05. sfrfer

Solution for Question 98

eng

hi

Q-99

eng

Q-99
hi

Doddabetta is the highest mountain in the Nilgiri Mountains at 2,637 metres.
TIETAET AN 9ad § 2,637 Hiex i =T 9% 7 2

The National Bravery Awards for children are presented by which ministry/ organisation annually?

01. Ministry of Skill India 02. Ministry of Women and Child Development
03. Indian Council for child welfare 04. UNICEF

05.  Ayush Ministry
Tt T TG AAT [ERTT o JaArerT / wvree gy wiaad y=re R ST g2




01. =yeret TR WATAH 02. wiZaT i< a1er oy w1
03. T aTed FeATor g 04. FfFEE
05. S HATeTT

Solution for Question 99

eng The National Bravery Awards for children are presented bylndian Council for child welfare.
hi Fgi * o0 TP AAT [EERTE S ST FHed ol IHus g1 T&qd T ST 21
Q-100 Recently, Nikhat Zareen was in news. She is related to which sport?
eng

01. Swimming 02. Shooting

03. Wrestling 04. Boxing

05. Cycling

Q-100 =T & H, i T4 mawi | off| 3¢ o = & wafaa €2
hi

01. =7y 02. fRemaeTSY
03. qjse?ﬁ 04. g@m@ﬁ
05. HT=fRfeT

Solution for Question 100

eng Nikhat Zareen is a woman boxer from Nizamabad who won a silver medal at the 2nd India Open International Boxing Tournament held in Guwahati.

hi Rad 4, AemETE 7 tF AR 9gars &, SR Tl #§ s g6 S AT Arae Sea9\e aifawi garHe § To7d 729 Star 97|

Q-101  Recently, which among the following has released the Global Health Challenges report 2020?

eng
01. WHO 02. UNGA
03. UNDP 04. WHF
05. IMF
Q-101 =T &t #, Mafertad § 7 frew weiae ge setsrst Rare 2020 S 1 22
hi
01. Zsequ=an 02. Ui
03. quaETd 04. TsqUATE
05. rEUATE

Solution for Question 101

eng Recently, WHO has released the Global Health Challenges report 2020.
hi T &1 H, TSIUAAT F A god Feord [La1e 2020 JTET HT 2

Q-102 Barabati Cricket Stadium is located in which state?

eng
01. Madhya Pradesh 02. Odisha
03. Kerala 04. Tamil Nadu
05. Jharkhand

Q-102 awTa Grahe wefeaw e T # a2

hi
01. e w3or 02. arfeam
03. 37 04. FfHeraTS
05. #AES

Solution for Question 102

eng Barabati Stadium is located in Cuttack, Odisha.
hi TRTEAT TfRAH Feeh, sfeer # o g

Q-103 Nagarhole National Park, also known as Rajiv Gandhi National Park, is situated in which state?
eng

01. West Bengal 02. Andhra Pradesh



03. Maharashtra 04. Karnataka

05. Tamil Nadu
Q-103 S TREr T I, o i Tieft Tg 3= S F2r Sharv 2, e s # fua 22
hi
01. ofars swrer 02. syfer waer
03. wEmTY 04. =FAfe®
05. FfFerTg
Solution for Question 103
eng Nagarhole National Park, also known as Rajiv Gandhi National Park, is a wildlife reserve in the South Indian state of Karnataka.
hi ANTEIA ST 32T, o1 Triia et e I off gt ST 8, ZFer0r AT TS Fidled § UFh aegsiid A evy gl
Q-104 When NITI Aayog was formed?
eng
01. 2016 02. 2014
03. 2013 04. 2015
05. 2017
Q-104 T ST T TS Fd AT AT?
hi
01. 2016 02. 2014
03. 2013 04. 2015
05. 2017
Solution for Question 104
eng NITI Aayog is a policy think tank of the Government of India, established with the aim to achieve sustainable development goals. It was established in
2015.
hi T ST AT FLHTL FT TF AN 25 & &, ore et foramer et &1 I F37 % I297 § =79 6T 3T g1 9t ST 2015 7 g2 41
Q-105 Who is the union minister of Food Processing Industries?
eng
01. Narendra Singh Tomar 02. Maneka Gandhi
03. D. V. Sadananda Gowda 04. Harsimrat Kaur Badal
05.  Smriti Irani
Q-105 TTT THEHIOT SN F Hald HAT A &2
hi
01. 7%z g arme 02. =y Tieft
03. 3. 4T, Heme TiET 04. ZIHWI FIT qTEA
05. Frﬁ% ST
Solution for Question 105
eng Harsimrat Kaur Badal is the union minister of Food Processing Industries.
hi EIEHAYA 1T ITE @I THERLT JANT AT a1 T 7T
Q-106  Shekel is the currency of which country?
eng
01. Jordan 02. Libya
03. Eretria 04. Fiji
05. Israel

Q-106 & e T T qET 22
hi

01. ST 02. =fifear
03. =frfr 04. frsft
05. =S

Solution for Question 106

eng The Israeli Shekel is the currency of Israel.

hi TIATIAT e, TTHLTAA T AT 2



Q-107 Nur-Sultan is the capital of which country?

eng

01. Yemen 02. Kazakhstan
03. Oman 04. Kyrgyzstan
05. Uzbekistan

Q-107 T-Feam e Zer &t ot 82

hi

01. Zm+ 02. FHeriREqT
03. ETT 04. FrftereaT
05. Ivafehear

Solution for Question 107

eng
hi
Q-108

eng

Q-108
hi

Nur-Sultan is the capital of Kazakhstan. Nur-Sultan, previously named Astana from 1998 to 2019. In March 2019, it was renamed to Nur-Sultan after the
death of Kazakh president, Nursultan Nazarbayev.

TZ-HAT FSTTTHEAT T TS g1 TZ-Hed T, S qger 1998 & 2019 T STEATHT ATH 23T 737 =71 71 2019 #, FoiTE TPt e
TSI il o F AT THHT A7 FaeTHT TL-Ged T HT [<F7T T

On which among the following birth anniversary India celebrates National Farmers Day on 23rd December?

01. Jai Prakash Narayan 02. Choudhary Charan Singh
03. Ram Manohar Lohia 04. Syama Prasad Mukherjee

05. Deendayal Upadhyaya
oo & & freht St a2 9 23 fRea a5 g G feaw et 82

01. ST SoRTT ATTHOT 02. =gy =7y fiig

03. <79 HATEL ATT5aAT 04.  93THT JETE @S
05. agTer IUTEATH

Solution for Question 108

eng

hi

Q-109

eng

Q-109
hi

India celebrates National Farmers Day on 23rd December to commemorate the birth anniversary of the Sth Prime Minister of India, Choudhary Charan
Singh. He was a farmer’s leader and he had introduced many policies to improve the lives of the Indian farmers. The day is being observed since 2001.

T o 5 & TETAHAT Fre<y =Feor foig ot st s = forg 9 23 fewe 1 g o feaw /amar 81 98 U a9 o i Seaiv
AT AT o St &7 aga? a1 & forw &2 Fifaat & qeara it o T f&a® 2001 | #9737 577 =27 2|

The UN World Tourism Organization has recently released its ‘UNWTO World Tourism Barometer report’. Where is the head-quarters of UNWTO
located?

01. Madrid 02. Vietnam
03. New York 04. Geneva
0S. Paris

T Y oo e T9eA g1 &f § 9T ‘UNWTO fara e srier Rare” S i 81 UNWTO T §&Ta gt 29 82

01. #f3s 02. fagaaT
03. =gafeh 04. e
05. Tt

Solution for Question 109

eng

hi

Q-110

eng

The UN World Tourism Organization is the United Nations specialized agency responsible for the promotion of responsible, sustainable and universally
accessible tourism. It is headquartered in Madrid, Spain.

T Ty e Teiee TTed SFHETe, T ST AT oS ®9 § AW THed Hl agal o & (o0 S T S (9900 TS 81 SHe gedrad 413s,
T H R

Retired IAS Officer Yudvir Singh Malik has been recently appointed as the Chairman and Managing director of which crisis-hit firm?
01. Altico Capital 02. IL &FS

03. Unitech 04. DHFL
05. None of the above



Q-110 #FaT+gw smEuuH srfardt iz fig afers F1 g1 &1 § Fohe Shesred i % areged oY wae e % =0 § g B @ 22

hi

01. srfezsy #fveer 02. rEue UT UHUH

03. {ﬁ%—aﬁ 04. Su=THRTT
05. UL § F ATE AL

Solution for Question 110

eng
hi
Q-111

eng

Q-111
hi

Retired IAS Officer Yudvir Singh Malik has been recently appointed as the Chairman and Managing director ofUnitech.Unitech Limited was India's second
largest real estate investment company, and once claimed to be the largest real estate builder in the country. The company is based in New Delhi.

AT ST At aa1 ffig 7icrd & gTe 21 § IfAeH  sTeaer siT wae e % =9 & fen By w81 1fes forfies wa iy
AL HAE FEN I UEee (Raer FO+T off, si¥ U a1 397 § Ha9 81 (VI Uee Ao g+ HT 1T AT AT AT| TF FI1 95 faoa 1 7 Fd g

Which country will host the 11th edition of the Indoor Cricket World Cup in October 10 to 17, 2020?

01. New Zealand 02. India
03. Australia 04. United States of America

05. Indonesia
T AT 29T 10 7 17 STFEaT, 2020 TH Z2IX ohohe fo5a 7 % 11 F HER0T 6T AT HT?

01. :eltvﬁﬁ—s' 02. 9T
03. spegferam 04. =<h w57 TR
05. Z=rfaraT

Solution for Question 111

eng

Q-112

eng

Q-112

11th Edition of the Indoor Cricket World Cup is to be hosted by Australia from October 10 to 17, 2020. The World Indoor
Cricket Federation (WICF) announced the tournament will be held at indoor cricket venues in Melbourne, Australia in Casey
Stadium and City Power Centre.

2SN Tordhe e 0 3 11 3 HEh20r T ASTATHT SHECTorAT 51T 10 7 17 3TaaT, 2020 T i ST g1 Fo8 TSIX fhahe He e (Segasd ) F
=IO ¥ 3 77 gATHe Aead | TASIE e ©Ial, FT wefeae ST &Y qraw & s frar smom

The Reserve Bank of India has instructed banks to make all online payments done through which of the following method free of cost for savings account
holders?

01. National Electronic Funds Transfer 02. Real-time gross settlement
03. BHIM App 04. Only 1 and 2
05. All of the above

AT R 9 7 S0 F7 Fetorad § 7 g e aream | B 70 G997 siaamsd s & a9 arararehi & (o §:90F T w1 [Hae
A g?

01. TTF TorFe(F *E gt 02. Freqfas FA7T g% MoeH
03. i uT 04. Fae 1 3072
05. 3TIh T

Solution for Question 112

eng

Q-113

eng

Q-113

The Reserve Bank of India has instructed banks to make all online payments done through National Electronic Funds Transfer and Real-time gross
settlement (RTGS) free of cost for savings account holders.

AT RTel o1+ Sfehi 1 THawT oo @ o of T Soiagiien e it 3T Fel-2Tew T Seatie (RTGS) o HTE § T 0 @it HATQTs ST serd @raramehi
aﬁ%‘l‘(ﬁfﬂﬁh—ﬁl

The Securitization Act does not cover:

01. Private Sector Banks 02. Consortium of Banks
03. Private Financial Institutions 04. Chit Fund Companies
05. None of these

gtasgfasr sferfeae %I A Tl HLAT 2l

01. A<t e o= 02. S g



03. fAsh fafrer =eermsit
05. =# FF1E TE

Solution for Question 113

eng

hi

Q-114

eng

Q-114
hi

04.

The Securitization Act does not cover Chit Fund Companies.

ST SAffem fore % iRt 1 e TEl T

What is the full form of ASEAN?

01. Association of Southeast African Nations

03. Association of Southeast Antarctic Nations 04.

05. None of these
ASEAN T QU7 &9 T &?

01. Association of Southeast African Nations

03. Association of Southeast Antarctic Nations 04.

05. =i & %S TS

Solution for Question 114

eng

hi

Q-115

eng

Q-115
hi

02.

02.

Association of Southeast American Nations

Association of Southeast Asian Nations

Association of Southeast American Nations

Association of Southeast Asian Nations

ASEAN stands for Association of Southeast Asian Nations.

ASEAN =1 ﬁﬂﬁ?{ Y Association of Southeast Asian Nations @I

What is the currency of New Zealand?

01. Dollar
03. Franc
05. Bolivar

Teftes it qaT F7 82

01. ={=T
03. %%
05. ifera<

Solution for Question 115

eng

hi

Q-116

eng

Q-116
hi

Dollar is the currency of New Zealand.

il I Gl SIox &l

In which state Jog waterfall is located?

01. Kerala
03. Tamil Nadu

0S. Manipur
o oo ® SR ST R g2

01. FT
03. gffeaTe

05. #firqz

Solution for Question 116

eng

hi

Q-117

eng

Jog waterfall is located in the state of Karnataka.

STIT STErsdT e teeh ¥F § f2a g

02.
04.

02.
04.

02.
04.

02.
04.

Krona
Rand

Karnataka
Andhra Pradesh

AT TIT

Where is the headquarters of International Cricket Council (ICC)?

01. Dubai
03. London

02. New Delhi

04.

Abu Dhabi



05. Vienna

Q-117 siawrgia e uftug (e F1 geamers w27 82

Providing financial services especially to women and children of lower income groups.

hi
01. z=g 02. 7% feedT
03. e 04. 31 grelt
05. =
Solution for Question 117
eng The Headquarters of International Cricket Council (ICC) is in Dubai.
hi SATE e TR (STESHTET) FT JATAT 395 | g
Q-118 What s Inclusive Banking?
eng
01. Providing financial services to low-income 02. Doing banking business in remote areas.
groups at an affordable cost.
03. It is the amount of money reserved for the 04.
government schemes.
05. None of these
Q-118  waTaeft ST FAT 2
hi

01. = FFmEdT AT 9% F7 AT a1 aqar 02

1 Fa=i= 970 g2 FE AT

03. 7g TTFHIT AT F forg aferq e 04.

EARUEIE]
05. =% &< LT

Solution for Question 118

IR o &A1 § ST AT e

e =0 & w7 at Y wigarst e agi wr BT Fard w1 w7 m

eng Providing financial services to low-income groups at an affordable cost is Inclusive Banking.

hi T TRt AT O FH ST AT Tl H1 (A< HAT0 T&TT FAT qaraeft S5 g

Q-119  Which of the following is a money market instrument?

eng
01. Treasury bill 02.
03. Derivative 04.
05. None of these

Q-119  =7H ¥ FI A7 7T ATohe egHe 82

hi
01. T5T o= 02.
03. e 04.
05. =it 3 A0

Solution for Question 119

eng Treasury bill is a money market instrument.

hi eoY T T AN A STTHT B

Q-120  What s the capital of Venezuela?

eng
01. Miranda 02.
03. Maracaibo 04.
05. Bogota

Q-120 =FUAT HT TS FT 82

hi
01. o=t 02.
03. HqTE=Ar 04.
05. FrTreT

Solution for Question 120

eng Caracas is the capital of Venezuela.

Share

Insurance

T

Caracas
Valencia



hi AATET HY AT FIHE &

Passage for Question 121, 122, 123, 124, 125, 126, 127, 128, 129, 130 (ST-110 RRBPO (126-135) 2014)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been printed in bold to help you locate them while answering
some questions.

India needs more banks. There’s no question about that. That’s the only way to generate financial inclusion in a country where banking penetration, defined as the
percentage of population with a bank account, is to touch 60%. Compare that with the near 100% penetration in the West and over 90% in Brazil, and you get the
picture.

And financial inclusion, the stated goal of the government, will remain a pipedream unless the banking sector expands exponentially to include every adult in India.
The Rangarajan Committee defined financial inclusion as “the process of ensuring access to financial services and timely and adequate credit where needed by
vulnerable groups such as weaker sections and low-income groups at an affordable cost.”

So, the news that more than two dozen of India’s leading corporate houses, financial services companies, non-banking financial companies, public sector firms and
India Post have applied for licences to set up new banks is a welcome one.

But here, we must temper our enthusiasm for financial inclusion with some caution. Ownership of banks by corporate houses should not become a licence for crony
capitalism.

It is to preclude just this possibility that the US and South Korea bar industrial houses from owning banks. Japan discourages such cross-ownership.

In Britain, Germany, France, Brazil and South Africa, however, corporate houses are allowed to set up and run banks.

In India, the Reserve Bank of India has a long and distinguished history of robust, responsible and successful supervision of the banking sector.

It can, by law, supersede the board of any bank to ensure, among other things, the security of depositors’ funds. So, there is every reason to be confident that, by
and large, India’s new banks, which will come into existence from 2014 onwards, will deliver on their mandate.

The new private sector banks that will come into existence from next year will surely improve financial inclusion. Competition changed the game in telecom and
aviation.

There’s every reason to expect it to do the same in banking.

hi Passage
TRITET T 9% T FHferted wat #§ F qag 3t=a oo g

foreaT 1 ST T Arfaters qeATeTT 3w gHe Stgt WitaE aivaer iy QAT aRafdfa w7 R § o Sttae w1 srreartera afdefiear @ <1 8, agt arfee,
FHAT, FH T T FT STIAT AqAT F TTEFd H AHAA- [T Bl TR a7 (23T | Thagett arareat § @ & G T55id % 219 | [FahdaH? 77 & g1 #
TET MU 3, 3w F g § ug= U § ST T & AT § TgAA 7 o7 HIAG-SITAT KT AT AT FT THAT g THU, AT i< e qodl HT Jr-8727
e e o sraeTaar g, ores s gar forg weame® &7 g1 7 59 14| =t & egaar et g FF ofgar a9 St g ar s 9ea/me = Srar
STTAT | 36 9T Tl AT &0 qTHT TaHT & V- TaehIe T AIFa-IH 37T AlHad [ FATET < TaaT| TAET AT ot T Tt ATe st 377
=yfhed 3 T STEATAT 71 § 37¥ T 797 79 37feced o Hafel § Fhmred 2l

Q-121 Which of the following is/are the goal of financial inclusion?

e (A) Providing statement for every financial transaction done
(B) Providing credit to the deserving sections of the society at reasonable cost
(C) Providing universal access to financial services
01. Only A 02. OnlyBandC
03. Only C 04. Only Aand B
0s5. Only B
Q-121 zoT EsTaea forer it Fatfas qgao a7 82
hi
01. wrfcrsfier Sfrae 1 TeaTaa 02. Sfrae 1 e Aifas &
03. Sfae 7 Fanff o 04. i 7 THET FwE

05. T & F S TEH

Solution for Question 121

eng ANSWER LIES IN THE THIRD LINE OF THE PASSAGE

Q-122 Why has the author compared the banking penetration in India to that of other countries?
eng

01. To explain that other countries are still far ~ 02.  To show that like India other countries too have made significant progress in terms of banking
behind in terms of banking facilities. facilities.



03. To prove that people in other countries are  04. To prove that India needs to increase banking penetration to make financial inclusion possible.
not aware of the advantage of banking.

05. The reason is not clear in the passage.

Q-122 sl ATHT- T Ff G0 gl Fal ST qhar, F1 -

hi
0. RFEF I AT F T H 2 02. it  srereia refierar 7 JHTaer Tol gar @
03. «ifaes afeger poiqar afaffa grmar g 04, anfEe-end-avat snfy ara-=ra=r & faifaa
05. 3T § & FE ALY

Solution for Question 122

eng ANSWER LIES IN THE THIRD LINE OF THE PASSAGE

Q-123  In which of the following countries, corporate houses are allowed to set up and run banks?

eng
(A) France (B) Germany (C) Sweden (D) South Africa (E) Britain

01. OnlyBandE 02. Only Cand D
03. All except C 04. All except E

05. All of the above
Q-123  v-f3Eie FT Aaarars & 7ty aF T g9 § 5 =i & -

01. 3aTq WraATen 1 fafaa R st 02, egsar g o efedr &= <1
03. &7t &1 7 T3 e T o fear sy 04, &7 STel 7 5o 2
05. I § & FE TN

Q-124  Why is author not in the favour of Ownership of banks by corporate houses?
eng

01. Corporate houses, generally, fail tokeep ~ 02. Corporate houses remain busy in profit-making and ignore customer satisfaction
adequate staff to ensure smooth functioning
of the bank

03. Corporate houses are barred by the law to 04. Only 2 and 3
open banks

05. Not mentioned in the passage

Q-124 wE A T TEATHL TS H 48 U TGhd 82

01. HT=E-ST T f&mTer TFae 02. HT== ST T famTer w0
03. ifeF-snfoas-geai #1 Mg #2 04, THfA-SETa 1 I07 S i ITH Fih
05. Jfqe-scwe qeat #1 fawfaa #+2%

Q-125  Which of the following is FALSE in the context of the passage?
eng

01. India has adequate number of banks 02. Reserve Bank Of India has remained very strict in the supervision of the banking sector
functioning for a long time

03. Credit is provided to weaker sections and 04. Banking penetration is the percentage of population with a bank account
low-income groups, under financial inclusion

05. All of the above
Q-125 ST &1 HIEE AT AThT 3T ATEqA & T THT AT &, FAN16 -

01. =g s it Freawra et & g & 02. =g ffa wifas afterm sreamf g

03. =g So7 3 i AreeraTT T8 04. JEFT SCHILETH TH BIAT AT &
05. I & H FE Aol
Q-126  Which of the following institutions have applied for licenses to set up new banks except-
eng
01. Non-banking financial companies 02. Public sector firms
03. Chit fund companies 04. Leading corporate houses

0S. India post
Q-126  T=rier H WA 9158 “SATATIAT” &1 staamrft Aeferfed & & wiq-4a1 82



01. srereff 02. Fraseff
03. gegTiorT 04. FETLEY
05. sreftfene

Q-127 Choose the word most SIMILAR in meaning to the word printed in bold, as used in the passage.
eng

Robust
01. Strict 02. Humorous
03. Flexible 04. Fit
0S. Straight
Q-127  T=rier § WA 9158 dieega’ H1 stEHredi Muferted § & wib-97 82
hi
01. =figa 02. sRfisa
03. favega 04. faehTiaa
05. wfa=rdr
Solution for Question 127
eng Strict
For other options:

Humorous (adj)-full of humour
Fit (adj)- healthy

Q-128 Choose the word most SIMILAR in meaning to the word printed in bold, as used in the passage.
eng

Temper
01. Define 02. Shock
03. Question 04. Calm
0S. Satisfy
Q-128  TErier H WA 9157 “STedca, HT TANT o6 qeaeer H Foham 17 82
hi
01. 97T § Ifeara 02. wfaeramft
03. sgashrer & =t 04, FET § Ul
05. =% T FIS Al
Solution for Question 128
eng Calm

Q-129 Choose the word which is most nearly the OPPOSITE in meaning as the word printed in bold as used in the passage.
eng

Exponentially
01. Digitally 02. Finally
03. Hopefully 04. Quarterly
05. Marginally
Q-129  TErier H W 9158 Fawaa F7 gaEel F9 # & Fi-a7 22
hi
01. foem 02. srfarwfEa
03. sefaafaT 04. EFTEefter
05. THI=
Solution for Question 129
eng Marginally
For other options:

Quarterly (adv)- once in three months

Q-130  Choose the word which is most nearly the OPPOSITE in meaning as the word printed in bold as used in the passage.



eng

Discourages
01. Threatens 02. Aims
03. Welcomes 04. Disturbs
0S. Eliminates
Q-130  TErier § W 9158 A9 HT aHTEel Muferted § & wib-a7 82
hi
01. fRwfor 02. oo
03. eg9r 04. Z=T9r
05. R
Solution for Question 130
eng Welcomes
For other options:

Eliminates (v)- removes

Passage for Question 131, 132, 133, 134, 135 (ST-110 RRBPO (156-160) 2014)
eng Passage

Rearrange the following sentences (A), (B), (C), (D), (E) and (F) in the proper sequence to form a meaningful paragraph, then answer the questions given below
them.

(A) The winner is chosen solely at the discretion of the judging panel and there are

(B) Different from the annual Man Booker Prize for Fiction as the judges consider a writer's body of work rather than a single novel, for this award.
(C) Or whose work is generally available in translation in the English Language

(D) The Man Booker International Prize recognises one writer for his or her achievement in fiction. Worth 60000 pounds

(E) No submissions from publishers. The Man Booker International Prize is significantly

(F) This prize is awarded every two years to a living author who has published fiction either originally in English.

hi Passage

= (A), (B), (C), (D), (E), (F) 3 T(G) ¥ A1q F1+ {30 10 | 37 7+ 77 Fa1 F1 TH q¥g AT eAq H0 6 378 UF o1t 7i=a2 a7 smu) 5 39+
aTe T o e T s SIS

(A) TreT o F8 7 QuiaT | F2 F forg w=ey {3 ofe waey fammr ST &t 21 2

(B) zEforT et # & g2 & q@t i wrfar 3 forw s afverny sie qeeumed 7 ff wgea samm = )

(C) 1T | F@T AT §- ART: FHHE FHIAAH TTAT ST AT FTH F2, I T TE AT, GIGIAT 3T HIAAAT 6 A1 F7 |

(D) &=z ey fora=ror & =@ 9% U= U &1 AT F19 7 F7d i /g & T2 8, S et a7 7 waresy it fonrres aret 21 &g g 2

(E) 3TAHA, S g AT ST & TE G T ST 1Y THAT &, ATohed AT T Hgd GTH-TT9 U2 g1 (492 T84, Ffeah &1, T, =, sregae, A oft =9
ENIECES

(F) T amiiye 919 %8 AT 919 T 8| ;@5 360 (o0 7 Faol aed | g2 AT, Tfedw UH AT FTHT 9 T2 g 6l THIgd af T2 g, ST a9 9 FaTesq gt
Tt Straet o forw ofY e ofF enfaT 21 @ €

Q-131  Which of the following will be the FOURTH sentence after rearrangement?
eng

hi

01. A 02. F
03. B 04. C
05. E
Q-131 SUIIRE AT §  FI A7 [FHIEAT F 1T FST ATFT T2
01. D 02. B
03. E 04. C
05. A

Solution for Question 131

eng The correct rearrangement is DFCAEB.

(D) Independent sentence. Opens the paragraph and tells us to whom is the Man Booker International Prize given.
(F) Continues the meaning of 'D'. States the fact that it is given every two years.

(C) tells what kind of work of the writers are awarded in this.

(A) tells us how the winner is selected amongst so many

(EB) explains that it is different from the Man Booker Prize and why.




Q-132

eng

Q-132

Q-133

eng

Q-133

Which of the following will be the FIFTH sentence after rearrangement?

01. A 02. D
03. E 04. B
05. C

I AGEAT | F I 7 [AATET F F1E THLT AT g2

01. E 02. A
03. C 04. B
05. F

Which of the following will be the FIRST sentence after rearrangement?

01. B 02. C
03. D 04. A
05. F

UL AT | F I AT [AAGET F FTE AT AT T2

01. D 02. C
03. G 04. A
05. E

Solution for Question 133

eng

Q-134

eng

Q-134

The correct rearrangement is DFCAEB.

(D) Independent sentence. Opens the paragraph and tells us to whom is the Man Booker International Prize given.
(F) Continues the meaning of 'D'. States the fact that it is given every two years.

(C) tells what kind of work of the writers are awarded in this.

(A) tells us how the winner is selected amongst so many

(EB) explains that it is different from the Man Booker Prize and why.

Which of the following will be the SECOND sentence after rearrangement?

01. A 02. D
03. C 04. B
05. F

UL § & I AT [AHTEAT F AT 16T T g 2

01. F 02. C
03. D 04. A
05. E

Solution for Question 134

eng

Q-135

eng

Q-135

The correct rearrangement is DFCAEB.

(D) Independent sentence. Opens the paragraph and tells us to whom is the Man Booker International Prize given.
(F) Continues the meaning of 'D'. States the fact that it is given every two years.

(C) tells what kind of work of the writers are awarded in this.

(A) tells us how the winner is selected amongst so many

(EB) explains that it is different from the Man Booker Prize and why.

Which of the following will be the SIXTH sentence after rearrangement?

01. A 02. C
03. F 04. B
05. D

YL | | I AT [AAGEAT % q1F AL AT G 2

01. C 02. E
03. B 04. F



Q-136

eng

Q-136

05. D

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

Helmets not only save your life (1)/ but also retain (2)/ the healthy of your hair (3)/ and serve as a skin hair protector (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

A= fomT 3T -y are = 9w H ater @ g S (1), (2), (3) #T (4) FHiE R T €)1 syt 78 3@ g 5 areer o BT nr § s,
ATOT, AT, &T5&1 * TAd TART IT THT TG T FIS (¢ SR GIIT AT ATHT & [ohell T AHT H & gIIT| SH TRT T FHIE gf 39 g 3 TR
FlTRT & a1 3T (5) AT FTE A9qfs 7ol Al

TTETSTATET 297 T& (1) ITRATAT et ¥ [ Tgiat &7 (2)/ et vaw § g1 s+t 9271 g2 favaa (3)/ i @rs g2 orfew & forea1 7 g &l
@)/ FTE AT TE 21 (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Solution for Question 136

eng

hi

Q-137

eng

Q-137

‘Health’ should replace ‘healthy’- a noun is to be used.

HaT g2 % T T W g2 A

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

The campaign would increase awareness to prevent gender-bias (1)/ ensure protection and education of the girl child, (2)/ improve nutrition status of girls
(3)/ and promote a protective environment for them (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

v FRrarT T ST A =T S e A R (1), (2), (3) A (4) I R #| A A FEa & A el i s,
AT, T, 9Teat o Tefd THNT AT THT q¥g HT TS A IR ST A7 197 6 TSR] Tk q7 § &7 0T I AT BT FHTF S I 21 9T a1
Afexfd & 1 3T (5) 37ATq “Frs argrfes A2t S

BT AT q qeF &9 F (1)/ TdT Fepiadi & smame § (2)/ Tt 7 Gt =9 § S Seama i STqhT (3)/ Tt Fagred 21 @1 81 (4) Fs Al
T 6)

01. | 02. 2
03. 3 04. 4
05. 5

Solution for Question 137

eng

hi

Q-138

eng

Q-138

no error

SUHITRT” 3 T IT STHN AT

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

Within minutes of the discovery of animals, (1)/ residents were seen crowding their rooftops, (2)/ curious staring at the animals which had (3)/ unknowingly
strayed into an unfamiliar territory (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

A= fomT 3T yeAr are = 9w A ater w@n g S (1), (2), (3) 3T (4) wHTE R Ty 1 s 77 3w g T are F R 9w § s,
ATOT, AT, &T5&1 * TAd TART IT THT TG T FIS 1 SR G AT ATHT  [ohell T AIT H & gIIT| 39 TRT T FHIE gf 39 g 3 TR
AfexfZa € a1 3T (5) AT Fre AYfg Tai o)

e & T T 7 (1)/ S STHIA T 2912l 1 98 I (2)/ T8 erfiss Saareil 3 TaTRe o7 oY THY F1e0r ag U A qrarget (3)/ T [
TEET T g TET SATAT AT| (4)/ F1E AT T2 81 (5)

01. 1 02. 2

03. 3 04. 4



05. 5

Solution for Question 138

eng

hi

Q-139

eng

Q-139

‘Curiously’ should replace ‘curious’- an adverb is required.

AT % T IT “HIIe” AT

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

With Holi fastly approaching, (1)/ heaps of branches wantonly dumped at various crossings (2)/ have resulted in long traffic snarls in the city, (3)/ raising the
hackles of daily commuters, especially those travelling at night (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

31 Rt ST ST S =T A A o R (1), (2), (3) 9 (4) FEE R # e a7 Faer & 6w 3 R e i s,
AT, AT, QT8&1 % TAd TART IT THT TG T FIS (e SR G AT ATHT  [ohell T AT H &f gIiT| SH TRT T FHIE af 39 g 3 T
TR & a1 972 (5) ot FrE werfy el &)

et oft et 3 forg S 36 ager e (1) 1S @T| geed TRt vEd R ek 5 )/ Srerme 9% TRy g U a2 fF (3)/ Sfae a7 3 S aqee
FE| @) FE AT 21 (G)

01. | 02. 2
03. 3 04. 4
05. 5

Solution for Question 139

eng

hi

Q-140

eng

Q-140

Q-141

eng

Q-141

‘Fast’ is the appropriate word.

ST 3 T 9 S{iE= AT

Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

The lack of parking space (1)/ across the city has created (2)/ a tough task for the district police administration (3)/ to regulate traffic (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

#Fr Foert T sredr AT e AT # At A R (1), (2), (3) W (4) Fi R ) A g e & v i R a i s,
T, T, 9T 3 T TN AT ZHY a9 T 15 AT ST 2RI AT 1T 3 Brelt U AT & 21 Rt 39 90 F7 F90% 87 397 2| 97 a7
AR & 1 I (5) st FrE gl er Ao

SfrerT ¥ AT A 2eT # (1) F Tt g3 § o gt T ) q w3y F w7 e fem @y w7 af @ a0)
01. 1 02. 2

03. 3 04. 4

05. 5

In each of the following sentences there is a blank space given. Below each five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which word can be filled up in the blank to make the sentence meaningfully complete.

For the past few days, the temperature was --------- and the air was dry, giving hope that flu cases will go down.
01. Marking 02. Pushing

03. Soaring 04. Ceiling

05. Driving

A= 30 10 s T § U O ST ST gel @ ST IHE A O 9758 AT U 2| IAH H 568 UF 9058 &l R #I1 I2 79 a7 § g a7 TH
STIYOT AT a9 STTAT 2| el €161 &l ATA FT ST HH AT Hl 3L 6 ®F | {{ohd HITST7| AThT 30 T eraat § & FATTe ST €753 FHT 997
FTAT B

IHTEET oraTedt o AT § AT ¥ S STt T off SHEAT AT AT T U ALY FZAT 2T 3% MG 50 AT 6 A+ AT T AST oo ooooe ERIna !
01. sfywor 02. T

03. faereror 04. g

05. feor

Solution for Question 141

eng

hi

Soaring

faereqor



Q-142

eng

Q-142

In each of the following sentences there is a blank space given. Below each five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which word can be filled up in the blank to make the sentence meaningfully complete.

Humans are entering animal kingdom for their own needs hence the conflicts are getting ------------- and intervention is required to allow animals live and
survive.

01. Common 02. Informal

03. Subside 04. Homely

05. Standard

= faw 70 s W § U R SO e g § ST SHe I 91T €75) AT T F| TAH § 6 UF o5k A7 N oI 9% 79 39 ¥ 98 AT UF
ST ATHT I SITAT g1 Tl 9753 [ ATT FHY IHhT FH HEAT Fl 3T 6 T H 3{Tehd HITSTU| ATTeRT A7 T oreat § & qaTiers ST M58 FT AqT
FIAT G

LR EE Il | o £ (e p— F foru g8 wger o Fr o Anfu o sftaw awaedt foer forer B ft st 8

01. syeaoor 02. g+
03. THTYTT 04. I

05. TR

Solution for Question 142

eng

Q-143

eng

Q-143

Common

For other options:

Subside (v)- come down
Homely (adj)- comfortable

In each of the following sentences there is a blank space given. Below each five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which word can be filled up in the blank to make the sentence meaningfully complete.

In the --------- of a road, most residents were either forced to walk or use horses for commuting.
01. Hence 02. Presence
03. Chance 04. Absence

05. Sustenance

A= 30 10 s T § U O ST Gt gaN @ oY IHh A 97 9758 AT U 2| TAH | 361 UF 9058 Fl R #I1 T2 79 a7 F g a7 TH
aﬁﬁgwaﬁw%lH‘@Qmaﬁaﬁmwﬁmmﬁw%wﬁﬁﬁﬁaﬁﬁmW%WQET%%WWWQWWW
FLAT G

R A 1 R ) g— AT % AT 2rar & T STE™ 7qeT it a97E g 79 7 Zrav 2

01. S 02. TETRE

03. Freqfa® 04. wifa

05. segTfon

Solution for Question 143

eng

Q-144

eng

Q-144

Absence
For other options:
Sustenance (n)- maintenance

GHEED

In each of the following sentences there is a blank space given. Below each five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
which word can be filled up in the blank to make the sentence meaningfully complete.

Schools that send children for door to door collection of money for various causes will be -------------------- under the Child Rights Act.
01. Hailed 02. Distanced
03. Mourned 04. Prosecuted

05. Liberated

= e 70 s W § U R SO e g § ST SHe i 91T €75’ AT T F| TAH § 6 UF ok A7 T oI 0% 79 39 § 98 AT UF
ST ATHT I SITAT g1 Tl 9751 il ATT FHY IHhT FH HEAT Hl 3L 6 T | 3{Tehd HITSTU| ATt 07 T oreat § & qaTiers ST M58 FT AqT
FIAT B

sy forer farsrr i - form 72t i 2 o dven & 7 forw oft S A e

01. ST 02. IHFHAT



03. &I+ 04. fS=mET
05. ST

Solution for Question 144

eng Prosecuted
For other options:

Hailed (v)- welcomed
Liberated (v)- given freedom

hi IEELE
Q-145 In each of the following sentences there is a blank space given. Below each five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
eng which word can be filled up in the blank to make the sentence meaningfully complete.
As the doors of many of the buses get jammed during accidents and fire, emergency exits were planned to speed up ---------- operations.
01. Service 02. Rescue
03. Peril 04. Recover
05.  Acquit
Q-145 = 0 0 S w7 7 U T T ST g3 © i I A1 T 758 AT T | 376 7 o7 T 158 &l 136 T 2 79 a7 § 98 a7 UF
hi SUT ATHT T SATAT g AT 9753 T ST HT IR BT TEAT T I F =T H fohe HIforT| sraeht f2w 0 ersat & 7 Faifars Sugsh as8 &1 999
FAT L
I T & oAl § He Troranie H Rgel ofiT qOaATi &l UH-gaL & 730 # S-S, TAd- [0, TH-FAL F T9-F G H -mmmmmme BT 2@ gl
01. =% 02. i
03. sradia 04. wrfr
05. %
Solution for Question 145
eng Rescue
For other options:

Peril (n)- danger
Acquit (v)- let go

hi HERAET

Passage for Question 146, 147, 148, 149, 150, 151, 152, 153, 154, 155 (ST-110 RRBPO (146-155) 2014)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are printed below the passage and against each five words have been
suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

Around the world three billion people have no access to modern cooking fuels. They (A) mostly on direct burning of solid biomass for cooking and heating. The
smoke from these (B) stoves causes some four million deaths annually, (C) millions of tonnes of crops and leads to global warming and large-scale regional climate
change.In India, 400 million people, of which 90 per cent are women, are (D) to indoor air pollution from inefficient cookstoves. This results in respiratory,
pulmonary and vision problems. In addition, inefficient cookstoves mean that women spend five to eight hours per day on cooking (E), 20 per cent of that time
collecting fuel. This is time that could be (F) on educational or other activities. Searching for fuel also puts women and children at risk of violence. The government
of India is taking action. The National Programme on Improved Cookstoves has been successful at the State level. The National Biomass Cookstoves Initiative
(NBCI) is providing improved cookstoves, which directly help the weakest and most (G) sections of society. But extending the take-up of new cookstoves involves
changing perceptions and practices around some of the most (H) activities of a (I). To make such changes sustainable, local conditions need to be taken into
account. The stoves need to be (J) and the households need to see tangible benefits.

hi Passage

fr feu afi=ee & 5= R ware e o o & g 3= v et & gatar w9 81 7 geard afiseE F A qied €, T welE A (1), 2), 3), (4)
37 (5) fareren faw T €)1 =3 o= § & 7 U o e & @ aieeE F ge § SUATE & 8§ QI FY 3dT g1 ST 9 fashed A1 FAT 8, ST 39
FHTE &1 I F T H TATAT g1 ATHT {30 710 Freedi § F qa ST Ao FT 999 F7A4T 21

AT (A) TT AT SAECTOTAT 5 TETAHAT AT UATE 3T ATLA T TR 3% HIQT 00 HIEI T § G190 6 S (o6 e S I geqreq? gul THE
AT o TLAT] 11 §a=1 § TTAT (B) TIH T Qe 7 ART T2 &1 TR 2901 6 i 9 37T (C) F &7 § off F4% gU| 380 T2l Uale § 1o
HIET 7 F gt /i, ST AT Tgo ariadrs & aendd g1 (D) e ST 3 a1 Rt avg e ot & g 9 § (B) T2 off| 987 Sugrerd § FThr
T & TET T T2 ST AGATEAT AT (F) UATe F 9 1 /19 32371 vaie 7 U fasi+ /e # qget g =AFa? S g9 0 =9 w7 <7 off| vaie s
AT TLTAHAT TLF HIGT 6 A g2 139 | [5HefT 95F # FHeAT| 92 (G) TN UATE 7 Fgl {6 HIat 3T a8, (H) &1 FATed & (% Ire ‘Tohregaa<
TLTAHAT o T | TET A0 I2id Figl 3 9 3FE F2d ¢ 5 IThr (1) 7 91 i steeforar % Fi= fear v () et

Q-146 Choose the correct option for (A)
eng



01. depend
03. establish

05. relegate
Q-146 (A) ¥ o g2t faseq #1797 7
hi

01. ¥

03. 39

05,z & 7€ T
Solution for Question 146
eng Depend

For other options:
Relegate (v)- come to a lower level

Q-147 Choose the correct option for (B)
eng

01. economic
03. intricate

05. advanced
Q-147 (B) % o 9T faaeT &1 799 F:7

01. wrer

03. 3rg&h

05. =% T FIS Al
Solution for Question 147
eng Rudimentary

For other options:

Immature (adj)- not mature
Intricate (adj)- Fancy

(Q-148 Choose the correct option for (C)
eng

01. dissolves
03. cultivates

05. improves

Q-148 (C) F o "t faeeT &1 =9+ F7|

01. Zer

03. e

05. gt & Fr A
Solution for Question 148
eng Destroys

For other options:

Dissolves (v)- liquefies
Validates (v)- proves

Q-149 Choose the correct option for (D)
eng

01. inclined
03. catered
05. evident

3'149 (D) & forar @&t farae &1 =13 2

01. 9T
03. T
05. g—rﬁirqﬁ%a-ﬁ

Solution for Question 149

02.
04.

02.
04.

02.
04.

02.
04.

02.
04.

02.
04.

02.
04.

02.
04.

flaunt

tempt

e

immature

rudimentary

EEED
ECLl

destroys
validates

ferem

supposed

exposed



eng Exposed
For other options:
Catered (v)- provided
Evident (adj)- clear

Q-150 Choose the correct option for (E)
eng

01. varieties 02. indolence
03. accessories 04. prepared

05. activities

Q-150 () F fory wigt forshed &7 52 #7

hi
01. fRorg 02. Trft
03. fer 04. w@T
05. TE=

Solution for Question 150

eng activities
For other options:

Accessories (n)- additions
Indolence (n)- laziness

Q-151 Choose the correct option for (F)

eng
01. consume 02. spent
03. expanded 04. energized
05. lacked

Q-151 (F) & o |2t foaweT &1 =59+ #:7

hi
01. srpfa 02. yfawTd
03. et 04. wrar
05. = B TS

Solution for Question 151

eng Spent
For other options:

Energized (v)- filled with energy
Expanded (v)- increased

Q-152  Choose the correct option for (G)
eng

01. liable 02. sensitive
03. vulnerable 04. unsafe

05. publicize
Q-152 (G) = oy w2t fashed 7 =3 2|

hi
01. foere 02. =TT
03. ZETET 04. FomeAT
05. =i F A A

Solution for Question 152

eng Vulnerable
For other options:

Liable (adj)- responsible
Publicize (v)- made known

Q-153  Choose the correct option for (H)
eng

01. trivial 02.  major



Q-153
hi

03. key 04. fundamental

05. necessary
(H) & forar @2t faeeT &1 =13 3

01. T+fr 02. TH=Tar
03. I 04. 1
05. =H ¥ HIS TG

Solution for Question 153

eng

Q-154

eng

Q-154

Fundamental
For other options:
Trivial (adj)- unimportant

Choose the correct option for (I)

01. household 02. industry
03. society 04. institution

05. asylum
) = o =LY faeew =1 =7+ 3

01. o= 02. wor
03. et 04. ZEqTErT
05. =8 qFIE A5l

Solution for Question 154

eng

Q-155

eng

Q-155

Household
For other options:
Asylum (n)- shelter

Choose the correct option for (J)

01. nominal 02. fair
03. bargain 04. affordable

05. creative

() forar gt fasheT &1 =1 2

01. Iyorr 02. <TEqaT
03. faer 04. < T
05. =9 ¥ FIs AT

Solution for Question 155

eng

Q-156

eng

Q-156
hi

Affordable

For other options:

Bargain (n)- negotiation
Nominal (adj)- for namesake

Which of the Phrases(1), (2) (3) and (4) given below each sentence should replace the phrases printed in bold in the sentence to make it grammatically
correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Every village had a grazing landed for cattle where during summer the animals not only got grass but also water.

01. Had aland grazing 02. Has a graze land

03. Had a grazing land 04. Have a graze lands

05. No correction required

T ATRT | TG Tohd aTerier &7 A 23 3 arrient (1), (2), (3) 37¥ (4) 7 7 fohasr gy siaeenfua sea o {3 13T Smery SATeRar 3 e u%
& BT SITANT| TT AT T a7 3 & ST FneT T SIanaor 7 sraeashal del g af ST 397 (5) JATm)

ST bRt T AR STt | Y gt i avg g iR e aw e grar 9 Rt i gaear i w9 e & sen g

01. T o= v T 2t 02. FfFaT 9% =mTEE R gar




03. FfaT 9 amee ot grar 04. ZfF=T £ weraT AT et
05. =< T AFALTF Tl 2l
Solution for Question 156

eng ‘Grazing’ would serve as an adjective.

hi AT 3 TATT I 9E ST

Q-157 Which of the Phrases(1), (2) (3) and (4) given below each sentence should replace the phrases printed in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Many of the healthcare centres some are not proper maintained will get a facelift and the issue of manpower shortage in the health centres will also be

addressed.(
01. Which have not proper maintained 02. That are not properly maintained
03.  What are not proper maintaining 04. Few were not properly maintains

05. No correction required
Q-157 v aTad | YEifeha araaier & A= &3 T ar (1), (2), (3) 307 (4) § | e g staeanod w3 0% T T aTe AT F ST a7
hi & BT SITANT| TT AT T a7 03 & Sr< FoneT T SITaanaor 7 sraeashal 7el g ar (94T 397 (5) JATrm)

TZ AT ATAT & T a2 FaT et T fOamT o FTd%H § 989 8, a1 agi 7 T G127 A AT FI T GIS HI 39 H 0000 FA
g ST 2

01. SIAT TG FIE FT 02. (9T FTHHTS I FT
03. STTET HTT THEIT PIE FY 04. AT TX-TRETR BT FT
05. TS FETT ATTITF 21 2

Solution for Question 157

eng ‘Properly’ as an adverb would qualify verb ‘maintained’

hi “FTARTST 3 TATT IL “FHTHHTST AT

Q-158  Which of the Phrases(1), (2) (3) and (4) given below each sentence should replace the phrases printed in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

India is rich in indigenous knowledge of our geography and topography and this knowledge is the most use fully one.

01. s the most useful one 02. Having the most useful one

03. Were the most usefully ones 04. For the most usefully ones

05. No correction required
Q-158 o are § Yaifeha arerter & A= {23 w3 arta (1), (2), (3) 37 (4) # & g wfaenfog wwa ow famy @ v s F s 0w
hi [ BT ST Tt o 1T Ay 913 & i< Fonet oft qrfeganer ot srarearshat =i @ af =T S (5) JerT)

o T & AqTH HTHTITEAT TALAT EIATE, 37 T2 ATT: THEST THeAT a1 0 Hel Faasg @7 @l SAral 2|

01. JTST T FTTHAT ToTAT 21T 2, 02. JATSH T HTTHAT T2 AT 21T &,

03. JATSH T HTHAT T ST 21T 2, 04. JATSH T HTIHAT TSAT 21T &,

05. TS L AFLTF T2} 2
Solution for Question 158

eng ‘useful’ is an adjective.

hi [SIEAT’ 3 I 9% T[SEAT S0

Q-159  Which of the Phrases(1), (2) (3) and (4) given below each sentence should replace the phrases printed in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Showers have damaged mango crop as fruits at many trees got drop due to heavy wind and showers.

01. Fruits for many trees got drops 02. Fruits from many trees get dropping
03. Fruits on many trees get drop 04. Fruits from many trees got dropped

05. No correction required
Q-159 v aTed | YEifeha araater & 1= &3 T areid (1), (2), (3) 307 (4) § | e g staeanfid w3 0% T T are ST F e a7
hi & BT SITANT| TT AT T a7 03 & 32 FneT T SITanaor 7 sraeashal Jel g af ST 397 (5) JTm)

ST AT AR & T F2A AT I A A BLANAR A FHALA AEGE B 5 AT A &1 36 aA T 1797 L FiL




01. e T ATeA § AT HEGH FLd & 02. FeT FT ATA H AELST HZHH F2d §
03. ST FT AT H T2 HgHd 4 & 04. F FT ATAT H ST HEqH T &
05. FTE FLT AALTF L1 2

Solution for Question 159

eng

hi

Q-160

eng

Q-160
hi

‘Got dropped’ means ‘fell’

SELA 3 T UL HEGS AT

Which of the Phrases(1), (2) (3) and (4) given below each sentence should replace the phrases printed in bold in the sentence to make it grammatically
correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Sleep disorders frequently occurrence in psychiatric and medical disorders, amplifying the suffering and disability that accompany them.

01. Frequent occurred into 02. Frequently co-occur with

03. Frequent occur on 04. Frequent occurrence at

05. No correction required

T AT TR ATeRaTer B A R o A (1), (2), (3) 3T (4) B & fres g afaeeniua T 97 =T T ave SHraer F ey ux
[ BT SITANT| TT T T a7 [ & Sr< FaneT T SITaneor 7 sraeashal del g af ST 397 (5) ZTrm)

ST I 6 =T H ATLT TLRTT 7 T4T HUh_AIAAT BT TEAT IIIE FHIT SrEH AT S 77 A7 Siee AT a1 Fal Te

01. TS FT TEATH I FIT 02. ST FT yEara qria T

03. TS F Y& I FE 04. TS T I Y

05. FTE FLT AFLTF L1 2

Solution for Question 160

eng

Q-161

eng

Q-161

‘Frequently’ is an adverb qualifying verb ‘co-occur’

Which of the following option to the most frequently used instructions of a computer program are likely to be fetched from:

01. registers 02. Flip-Flop
03. Hard disk 04. RAM

05. None of these
et & & UF Foge? T % GaiieT SEdaTd Maer & Fgl § [ 6 F91aT grar g2

01. et 02. foerq-TreriT
03. =< e 04. ¥
05. =3 & F7E T

Solution for Question 161

eng

hi

Q-162

eng

Q-162

The most frequently used instructions of a computer program are likely to be fetched from Cache memory.

TF FLET TTH F T STETHTA [Ha9T Hel TR F e 7 F91aET gt 21

To select multiple non-adjacent cells in a worksheet(EXCEL) you will click them by holding-

01. CTRL key 02. Ctrl+Shift key
03. Shift Key 04. ALTkey

05. None of these
UF gefie § A7 [ U HA T UF AT S % o7 H Fl e FaA o6 A7 ----- TS 2

01. CTRL key 02. Ctrl+Shift key
03. Shift Key 04. ALTkey
05,z & T At

Solution for Question 162

eng

- Holding Ctrl and clicking cells will allow you to select multiple cells that are not joined with each other.



hi - CTRL & il TATHT 3T A I [ T T F5 HA I HolFe FLd ¢ S 1 gl dal gl 2l

Q-163  Which of the following option is the short cut for opening Task Manager?
eng

01. Alt+ Windows + Del 02. Alt+ Shift + Del
03. Ctrl + Alt + Del 04. Ctrl + Shift + Del

05. None of these
Q-163 7 & & T &7 215F A5 @A % fory erfeahe g2

hi
01. sfce+ &+ 3o 02. ez + foree + 37
03. FreT + sAfee + T 04. =g + farge + 31
05. =a# FHrE Tol

Solution for Question 163

eng Ctrl + Alt + Del is the short cut for opening Task Manager.

hi Ctrl + Alt + Del 2T&F AT @A % {0 9Tiéae gl

Q-164 Which of the following type of software secretly collects information about you and your internet habits?
eng

01. Detect ware 02. Spam
03. Spyware 04. Adware

05. None of these
Q-164 fforfad @ & o w1 7 ATFeaaT 0 T F 394 37T ATH Te¥Ae 6l SEal & a1 H SITARRT TR H3dT 82

01. = 3w 02. =¥
03. =TaIT 04. TEaIT
05. =oH q FIE TRt

Solution for Question 164

eng Spyware software secretly collects information about you and your internet habits.

hi TSI AIFEAIT 0 ET H ST AT ATh S ol Sadi & a § Ao UHa H2al gl

Q-165 Which of the following options to have for dial up internet connection?
eng

01. Telephone Line 02. Internet Account with an ISP
03. Computer with modem 04.  All of the above

05. None of these
Q-165 HfEd | & STIA T Tedde FAFd % (o0 STTahT Fhaeht ST gt a2
hi

01. fiere ares 02. T FEUES F qY TaTAE THIE
03. wieH F 1T Fgezx 04. ST Tt
05. =i & T
Solution for Question 165
eng Telephone Line,Internet Account with an ISP and Computer with modem these all are required
hi TF ATSUHAT o TS T2 THISUE, AT AT ¥ FISH & 91T FHPge T 9T il ST&d gral &

Q-166 Remote Computing Service involves the use of time sharing and
eng

01. interactive processing 02. multi-processing



03.  batch processing 04. real-time processing

05. Both 1and2
Q-166  TTET FFALET FAT H ST AT T - T SEATE AT 2raT 2

hi
01. Z¥feea TEET 02. HEEITETENT
03. 3= JrafEr 04. et arzw AT
05. 1 &fT2 FET

Solution for Question 166

eng batch processing

hi EERIGIGH

Q-167 A stackis

eng

01. a 16-bit memory address stored in the 02. a 16-bit register in the microprocessor
program counter
03. aset of memory locations in R/WM 04. an 8-bit register in the microprocessor
reserved for storing information temporarily
during the execution of computer
05. None of these
Q-167 UFEF__ FaATE

01. U= 16 fae 900 ugw FEAFT FEex {02, ATZAHMIEET § UF 16 fae ot
qufea

03. R/EM# HHET BT FT UF #2 ST F7g27 04, ArsshrraeEe § uF 8 fae v
F TS % 2 e &9 8
ST F H=or % form sefera gt 8

05. T & FrE AEF

Solution for Question 167

eng Stack is a set of memory locations in R/WM reserved for storing information temporarily during the execution of computer

hi TEFH R/WM H HHET ATHT T UF He ZIaT & o8 Hege? 6 U9 & 0 eI &9 F TARHL T2 I & [of7 s T@T S1aT g

Q-168  The scrambling of code is well known as:

eng
01. encryption. 02. password-proofing.
03. scrambling. 04. afirewall.
05. None of these

Q-168  FTS HT THFITT FHl--mmm e F &7 H ST ST 2

hi
01. ufesrer 02. s IioT
03. wrFaferT 04. wrERElT
05. =% T AIS Al

Solution for Question 168

eng The scrambling of code is known as encryption.

hi FIE T TAFTCNT &l UTeRterd & &9 H SET S gl

Q-169 Ifauser needs information instantly available on CPU, it should be stored at
eng

01. onaCD 02. in secondary storage
03. inRAM 04. in the CPU

05. None of these
Q-169 =T TS FT CPU T ITAH TAHT Al A TELT &, Al Tg----------- T o ST =R



01. TF st 02. st wERS |
03. 3I|H 04. g &
05. =% IS AT
Solution for Question 169
eng If a user needs information instantly available to the CPU, it should be stored in secondary storage memory.
hi T2 IS FT CPU T¥ T FTFFHILT T QI STEIA &, AT g Tt FeIsT § SRl g7 ST AT
Q-170  The first part of a complete URL is define the needed to access the web resource.
eng
01. address 02. name
03. communication 04. protocol
05. location
Q-170 =3 FHTH FT THH FIA 5 O —mmmmmmommmmmes TS QU7 HATTA T TgAT A1 ZraT gl
hi
01. w3H 02. =19
03. FEgfashorT 04. grErHieT
05. Frher
Solution for Question 170
eng The first part of a complete URL is the Protocol needed to access the web resource.
hi TIerhie
Q-171 The program compresses larger files into a smaller file.
eng
01. WinZip 02. Win Style
03. Win Shrink 04.  All of the above
05. None of these
(055 /5 [ TIITH ST BIEAl FT el Bl § FEH FLdT 2l
hi
01. =t 02. fa &
03. T wEa 04. 39T T
05. =% T HTE T2

Solution for Question 171

eng The WinZip program compresses larger files into a smaller file.

hi faatorT TR ST wrEet w S wredl § FRE T g

Q-172 POP-3isa

eng

01. Server 02. File
03. Protocol 04. All

05. None of these
Q-172 POP-3UTH L

hi
01. Ha< 02. w1z
03. qIErFe 04. T+f¥
05. = ¥ 4TS A
Solution for Question 172
eng -a server is a computer program running to serve the requests of other programs, the “clients”.
-In information technology, a protocol is the special set of rules that end points in a telecommunication connection use when they communicate.
hi - FEY UF FFAE TRITH § ST g9Y TR & Rgee &l 99 F7dT | - THRHLE ShTeist #, UH e, e 7 UF 9 grar &, o g

F Afeqw wteee (F1ee) FHIfae F o s w34 21

Q-173 XHMTLIs ... accessible to more computers and browsers.



eng

01. More 02. More or Less
03. About the same 04. Less

05. None of these
Q-173  XHMTL & FET AT ATISL F (o ---- A 2

hi
01. srfers 02. srfer o7 F: 7
03. T JHIA 04. =w
05. =i F AT A

Solution for Question 173

eng XHMTL is more accessible to more computers and browsers.

hi XHMTL e Fee 37 a13se [0 Afers g g

Q-174 gate is called as Inverter gate.

eng
01. NOR 02. NOT
03. AND 04. XOR
05. NAND

Q-174 e FT FFEL A FHgl AT 2l

hi
01. NOR 02. NOT
03. AND 04. XOR
05. NAND

Solution for Question 174

eng NOT gate is called as Inverter gate.
hi NOT Az FT TFAETAT HGTATATY
Q-175 The cells involves creating a single cell by combining two or more selected cells.
eng
01. Formatting 02. Editing
03. Embedding 04. Splitting
05. None of these
Q-175  —-mee- T I T ATerF =TI T F AT F G U Uhel Fef H7 (H0T07 i v gl
hi
01, wriffT 02. nfefT
03. e 04. feeerfsr
05. i & T
Solution for Question 175
eng Merging cells involves creating a single cell by combining two or more selected cells.
hi T AT 3T & AT FATAT A % FATSIT % GIT Tk TFH G T (/07 QTHA 2T 2

Q-176  Which of the following option suited if you press Ctrl + Shift + F8?
eng

01. It selects three word 02. Tt activates the rectangular selection
03. It selects the paragraph on which the 04. Tt activates extended selection
insertion line is

05. None of above
Q-176 =f% &7 Ctrl + Shift + F8 I8 ¥ & 7 F4T ZH1T?

01. g i ore2 T HeFe FTAT 2| 02. g ATTATHTT HAFAT Hl 6T FLAT S

03. g 3T YTRTE FT FoFe Far g P 04, 77 Fearia aerw #i1 ufede +3a 8
ZHIT AT 2raT &l




05. 3R & & FE TH

Solution for Question 176

eng Ctrl + Shift + F8 activates the rectangular selection.
hi Ctrl + Shift + F8 SMAATHTT =TI &l THT FHLAT gl
Q-177 InBluetooth technology , the layer is roughly equivalent to the physical layer of the Internet model.
eng

01. L2CAP 02. radio

03. baseband 04. all of above

05. None of these
Q-177 FEIH, ---mmmmmmmmeee AT TaTAE Aied AT (B A7 F T 2
hi

01. Tem2eudt 02. fear

03. sHaT 04. SE Tt

05. it & FE T

Solution for Question 177

eng In Bluetooth, the radio layer is roughly equivalent to the physical layer of the Internet model.
hi S HT AT AT, TeTAE AISH I {hioohel AA< % THH gl g

Q-178 Which of the following are included in the word program............. Title Bar, Ribbon, Status Bar, Views, Document workspace.
eng

01. Window 02. Website

03. Explorer 04. Browser

05. None of these
Q-178 =€ TR ¥ 2Tzed a1, Rad, ¥ed a1, =, TIFHE Theq -------- H ettt T ST g
hi

01. faarsr 02. I=9TEE
03. TFTTART 04. FTIST
05. =H T FIE A1

Solution for Question 178

eng The word program Window included Title Bar, Ribbon, Status Bar, Views, Document workspace.

hi ZTzea a1, faw, e a1, =, TrRgEe Faeaer, f&eT a€ TR | arfie o E)

Q-179  Storage place for Documents, Movies, Images and Photographs is
eng

01. Print Server 02. Web Sever
03. Application Sever 04. File Sever

05. None of these
Q-179 ==EaTe, fohew, foret oY aeel & form weTor #01 -- oo graT gl

hi
01. ffegew 02. 3 HaT
03. TeefiFe qdY 04. wHreer THT
05. =% A *rE TET

Solution for Question 179

eng Storage place for Documents, Movies, Images and Photographs is File server.

hi e, fBeET, e 3 el & forg Seor & wiee 947 g 2l

Q-180  Press the ENTER key in all of the following circumstances except .
eng

01. to begin a new paragraph 02. when the insertion point reaches the right margin

03. to insert a blank line into a document 04. in response to certain Word commands



05. None of these
Q-180 ----- e 7o adt i fRafat § Enter Fs 7910 ST &)

hi
01. T FAT TITUTE L FIA 6 o17 02. S T TiEe T AT 92 9gaar &
03. fFeft siegdie § us = dfw aftaferg 04, g [f2a € s & @ &
F7 % forg
05. =% FF1E TEH

Solution for Question 180

eng Press the ENTER key in all of the following circumstances except in response to certain Word commands

hi % TS € F91e % A §, #7 greae =49 g€t aRRafat § tex Fsit @ o )

Q-181 The horizontal and vertical lines on a worksheet(Excel) are called ?

eng
01. Lines 02. sheets
03. block lines 04. gridlines
05. cells
Q-181 T ahefie(waren) T2 4TS SiiT Feata ATeal o ------- FgT ST Bl
hi
01. &ree 02. sffz
03. i AT 04. e
05. o1

Solution for Question 181

eng The horizontal and vertical lines on a worksheet are called gridlines.

hi UF Fhefie U ST Y FHeate™ ATl F =are Fgl Srar 2

Q-182  Where is the copyright information located on most webpages available ?

eng
01. Sidebar 02. Header
03. Footer 04. Title
05. Status bar
Q-182  sfErEwaw aausii U ffuq widivTse TRFT Fgi BT gt 872
hi
01. HrE=a™ 02. 2%
03. T 04. zrzfeer
05. T a™

Solution for Question 182

eng Footer It is often used to display company data or copyright information.

hi ¥ T TN AT FIAT T2T AT FIA T2 AR 25T F2 o forw s o smar g

Q-183 Pipeline implements

eng
01. fetch operand 02. decode instruction
03. fetch instruction 04. calculate operand
05. All of the above

Q-183  TTETATE —-meemee EfPeerie 7T 21

hi
01. %= sffaiee 02. fFre SeeFem

03. %= TegFe 04. FTgHere ATE



05. IqTr<h it
Solution for Question 183

eng Pipeline implement fetch instruction, decode instruction, fetch operand, and calculate operand.
hi ITSIATSH, T Seeae, [RHTT SeeaeM, FH AT 3T Tl AT FIA &l SFIHE FHIAT gl
Q-184 When you quickly press and release the left mouse button twice?
eng

01. pointing 02. Primary-clicking

03. Double-clicking 04. Secondary-clicking

05. Drag and drop
Q-184 <9 AT STedt &, AT WISH Jed &1 a1 I e GIEd & al, AT --mmmmmmme FY T B 2
hi

01. wifedr 02. grza ferfET

03. zae fFfaT 04. FFAT - At

05. ST g
Solution for Question 184
eng When you quickly press and release the left mouse button twice , you are double clicking.
hi ST ST STeal & FTS AISH ded &1 a1 99 31T BISd 8, al AT Ta AT T 73 2
Q-185 The IMAP protocol is used for what Internet service?
eng

01. File transfers 02. Email

03. Web hosting 04.  Online chat

05. All of the above
Q-185 IMAP e e 3revae afae * forw =T T Srar 82

hi
01. wTEe TEHT 02. <o«
03. 3 gifeeT 04. ierre e
05. 3UXIh T
Solution for Question 185
eng IMAP ("Internet Message Access Protocol") is a method of accessing e-mail messages on a server without having to download them to your local hard
drive.
hi AT (‘ST HEST UHIE TIEThie) TAT T¥ S-Hef U Fied 1 U HIS g O o799 g1E 3129 I Sr8Aere 6 faar 3 stmar &)

Q-186 Disk cleaner, Disk defragmenters (system tools options ) are examples of?
eng

01. system softwares 02. application softwares
03. utility software 04. sharewares

05. all of the above
Q-186 2w =i, fova favkdew (feew zom) v & SemRwor 2

hi
01. f=w giTeaaT 02. T AIFEANT
03. TEforT AfveaaT 04. =TT
05. IYTI<h Tt

Solution for Question 186

eng Disk cleaner, Disk defragmenters are utility softwares.
hi 3Fd FollelX, 3FF defragmenters JieTordT AfFed=R &1

Q-187  Every time the CPU performs a program instruction it goes through all the following steps EXCEPT:
eng



Q-187
hi

01. the CPU decodes the instruction so that the 02. the CPU executes the instruction and stores it on an external device.
computer can understand it.

03. the CPU fetches the required piece of data 04. the CPU executes the instruction and stores it in RAM.
from RAM.

05. None of these
% FT¥ CPU U TRITH S TURM F3dT g al (9 § | 98 FI9 F T7 HT AT Agl F2aT1 8 2

01. CPU Z¥==99 &1 =9 Y RFre #zarg 02. CPU SEHI &l Ul FLdT g 3T Uaedd (SaT2d I T FdT gl
o FFeey 38 99 99

03. CPU, RAM ¥ ST TTeT AN T @17 04. CPU FFI T TSI F3aT & AT RAM | 36 F2I¥ F2dT &l
2l
05. =% FF1< TEf

Solution for Question 187

eng

hi

Q-188

eng

Q-188

- The CPU executes the instruction and stores it on an external device.

- CPU ¥ UFHTFIE FAT ¢ 3MY TH UAHSAd [Sa1d U< F21< FHYdl gl

This graphic type is commonly only found on the Macintosh family of Operating systems?

01. jpg 02. bmp
03. gif 04. pict
05. fi

I T AT TTE TR hael Sfeeerer s i feen &t § g Smar g2

01. Srfisfy 02. oy
03. Sfrsmsuw 04. o
05. TS

Solution for Question 188

eng

hi

Q-189

eng

Q-189
hi

pict graphic type is commonly only found on the Macintosh family of operating systems.

foere qTfthe TohTe AT Fad Sffeerer s e fReen ST & 9 Sar )

To create word processed to document when the user at this stage, screen and in printed form in both words change is visible on the page ?

01. Inserting Tables and Indexes 02. Editing text
03. Formatting text 04. All of the above

05. None of these
T TIHEe SiaFgHe ThUe F7d T0T, TH 907 § IoT¥ Shid 1T fee w2t # o 72 faad a9 5« F2ar 2|

01. =eofew aaew 3T TTRM 02. ufefir e
03. wiAfar T 04. IUT=E AT
05,z & A AT

Solution for Question 189

eng

hi

Q-190

eng

Q-190
hi

Formatting text

S
Mnemonic a memory trick is used in which of the following language?
01. High level language 02.  Assembly language

03. Machine language 04. Al

05. None of above
AT, Fe foah o Ao & ST o Strar 82

01. 2T e AToT 02. THFET AT



03. wofieft wror 04. wafy

05. ITAFH FIE ARl

Solution for Question 190

eng - Mnemonic on memory trick is used in assembly language.
hi - e v 9RT o § ST uEEEEl AT § SR A ST )
Q-191 Which bar displays information about the current page number?
eng
01. Title bar 02. Status bar
03. Tool bar 04.  All of the above

05. None of these
Q-191 F¥== U5 TH2 % oI FI &7 a7 AAT aqrar 22

hi
01. zTzedar 02. Tz I
03. ™ 04. =sfy
05. =% F F1E Al
Solution for Question 191
eng Status bar displays information about the current page.
hi TETH ATT Fiiee I 6 AT § GAAT T FATAT &
Q-192  Electronic Mail / Message System (EMMS) best suits to
eng
A. Postal Service B. Telegram Service
C. Telegraph Service D. Telephone Service

Q-192  zerEeia® HaA/H=eT Tt (EMMS) ----- oI 98 371 92 F7aT &l
hi

A. O g B. myafEe
C. o afee D. frem afde
Solution for Question 192

eng Electronic Mail/Message System (EMMS) best suits to Postal Service.
hi TAFSIAF HA/H LT TUITAT (EMMS), TTeet FSH it 938 B gl

Q-193  Pipelining increases CPU instruction by

eng
01. efficiency 02. latency
03.  throughput 04. Both 1and3
05. None of these

Q-193  TTETATEHT & HA F e & e TE ST 2

hi
01. whifFueET 02. FEeT
03. gq= 04. 13T 32T
05. =% T FIE AT

Solution for Question 193

eng Pipelining increases the CPU instruction throughput.

hi TTEIATE (AT & IS % el T oiqe a8 St g

Q-194 Magnetic tape is not practical for applications where data must be quickly recalled because tape is—
eng

01. A sequential-access medium 02. A random-access medium
03. A read-only medium 04. Fragile and easily damaged

05.  An expensive storage medium

Q-194 #ufes 20 ueiae ¥ foru SfFese 781 € 92t ST #l Jeal T ST g FifF e a2l



01. fEguftaue vwg s 02. T ¥=w THE HISTH
03. i e fifeaw 04. SIS ST T & Afaue

05. T WA F S HifSAH
Solution for Question 194

eng Magnetic tape is an expensive storage medium.
hi FAHIT T TF HHT ASTLOT AT 2

Q-195 DSL service, in which the maximum download speed is higher than the maximum upload speed, is known as:
eng

01. DDSL 02. SDSL
03. ADSL 04. BDSL
05. Other than these options

Q-195 DSL #f3\ # 7% # fora# stferaw STeaie i, ATEHas Taare Tha T SToeqT STt 2rdf gl
hi

01. DDSL 02. SDSL
03. ADSL 04. BDSL
05. = faeal & srerar

Solution for Question 195

eng - In DSL service, ADSL has maximum download speed is higher than the maximum upload speed.
hi - DSL |39 ®, ADSL ¥ ST T e, TIATS ¥ T  STeAT SATAT BT Bl
Q-196 ... is well known as unauthorized access to others systems
eng

01. Hacking 02. Encryption

03. Decryption 04. Trafficking

0S. Firewall
Q-196 ... AL % Toees &7 safegd &9 § UaH F3A71 2l g
hi

01. 2T 02. ufepeer

03. =freom 04. Rfyar

05. wrITata

Solution for Question 196

eng Hacking is known as unauthorized access to others system.

hi BT A (oeeH 7 SAf9sa T § T FA7 2T gl

Q-197 VOIP stands for
eng

01. Voice over IP 02. Visual over IP
03. Viruses over IP 04. Virtual over IP
05. Video over IP

Q-197  Hsiraret #1 qof &7 ELRLEA

hi

01. Voice over IP 02. Visual over IP
03. Viruses over IP 04. Virtual over IP
05. Video over IP

Solution for Question 197

eng VOIP is used to transmit audio over a network.



hi Areremedt U W 9T ATAT HATHA A (o0 T AT ST 2

Q-198 Which of the following topology is also known as MIXED topology?

eng
01. TREE 02. RING
03. STAR 04. BUS
05. HYBRID
Q-198  Frafrfr & & i & Arftef, ffora Srfvertoft ¥ = & 9wy st 22
hi
01. & 02. fr
03. =T 04. g
05. grzfae
Solution for Question 198
eng HYBRID topology is combination of two or more topology, also known as MIXED topology.
hi 9 . . . .
eIsfos cigidiel ar a1 ar ¥ 37fAd cIuldiel &l TIed aidl &, /o AfAa aaraiet & 7 & Y e Jar
2l
Q-199 What file format began the trend of downloading songs online?
eng
01. WMA 02. MOV
03. WAV 04. MP3

05. None of these
Q-199  FIF T HISA YTHT I SAAATIH T TTSAATES F2A T TR = g2

hi
01. WMA 02. MOV
03. WAV 04. MP3
05. o7 A TS T

Solution for Question 199

eng MP3 is popular compressed audio file format.

hi Tt 3 ATRPT A AT e i 5

Q-200 Ifyouneed to change the typeface of a document, which of the options menu will you choose?

eng

01. Tnsert 02. View

03. Format 04. Tools

05. Edit
Q-200 =TT ATTHT SIFTHE F STSTHA i GIAT ] STELT BT AT AT FHIT AT H T2
hi

01 =& 02. =g

03. A= 04. ==

05. ufez

Solution for Question 200

eng If you need to change the typeface of a document, you choose format menu.

hi TS Aroent foreT TEATAST & STSTHH Fadd il ST&d ¢ af 3T HiHe A T 949 Fd gl



